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Question Number : 1 Question Id : 60092913186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the CORRECT alternative from the given ones that will complete the series.

QC, RA, SY, TW, UU, ?
Options :
1. ¥ WT
2. % WS
3. % VT
4. ¥ VS



Question Number : 1 Question Id : 60092913186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fgepd fear T 8, o 4 ud ue g ¢ | AU Y fawed! & & 98 98t fadwed g, St Sfhd &1 [T H1

QC, RA, SY, TW, UU, ?
Options :
1. % WT
2. % WS
3. % VT
4. ¥ VS

Question Number : 2 Question Id : 60092913187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the CORRECT alternative from the given ones that will complete the series.

ND6, QA12, TX24, WU48, ZR96, ?
Options :

1. ¥ CO192

2. % B0O192

3. % CO182

4. % BO182

Question Number : 2 Question Id : 60092913187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd fear mar B, o § ue ue g 31 U U il 7 ¥ 98 9el faded g, S 3w H B [T R

ND6, QA12, TX24, WU48, ZR96, ?
Options :

1. ¥ CO192

2. % BO192



3. % CO182
4. = BO182

Question Number : 3 Question Id : 60092913188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the ODD one out from the given alternatives.

Options :

1. * GV-FW
2. % WQ-XR
3. % SK-RL
4. % DP-CQ

Question Number : 3 Question Id : 60092913188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fermuuy ® IR ser gm AT M §1 (1) & St 3R fod M 1eR () & et SR a0 T s1er I fopadt b/ fram ey @ Gefa g1 =
I U do/aH/AEY & YR IR 99 g | 38 T fawed! & ¥ faww &1 gfu|

Options :

1. % GV-FW

2. ¥ WQ-XR

3. % SK-RL

4. % DP - CQ

Question Number : 4 Question Id : 60092913189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(GQ, FS, EU)
Options :



1. % (VO, UQ, TR)
2. % (B], AK, ZL)
3. ¢ (NF, MH, LJ)
4. % (XC, WE, VI)

Question Number : 4 Question Id : 60092913189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeaa uy & srerl &1 v Iug e a1 8 | Ul THg & 31eR I g & 31er] & ury et 9/ Maudey ¥ gefia g1 fad mu
fqemedl T T 31&RI I Uh THE P! T ol UM dob/FaH/ A BT IR0 Hll 8

(GQ, FS, EU)
Options :

1. % (VO, UQ, TR)
2. % (BJ, AK, ZL)
3. % (NF, MH, LJ)
4, % (XC, WE, VI)

Question Number : 5 Question Id : 60092913190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

QDW : WZR :: ?

Options :

1. % SPC: YLW
2. % LTM : RPH

3. ¥ YHV :DDQ
4. % NGQ:TCJ

Question Number : 5 Question Id : 60092913190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad uy o fau e fawed! & 4 d6fia sier g o1 gl

QDW : WZR :: ?

Options :

1. % SPC: YLW

2. % LTM : RPH

3. % YHV :DDQ
4. % NGQ: TCJ

Question Number : 6 Question Id : 60092913191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘You are coming late’ is written as ‘4281°, ‘Boys are going late’ is written as ‘2568°. What is the code for ‘you
coming’ in that code language?

Options :
1. ® 18
2.¥ 14
3. % 48
4. % 25

Question Number : 6 Question Id : 60092913191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fafRy ®Ig UMW 3, “You are coming late’ DI 42817 ﬁ'IET\_TﬂﬁT%, ‘Boys are going late’ DI 2568 forar ST 81 I HIg U | ‘you
coming’ D[ AR %?

Options :

1. % 18

2.¥ 14

3. % 48

4. % 25

Question Number : 7 Question Id : 60092913192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MOON” is written as ‘1221, ‘SHIP’ is written as ‘1121°. What is the code for “WATER’ in that code language?
Options :

1. ¥ 12121

2. % 12112

3. % 12122

4. % 21121

Question Number : 7 Question Id : 60092913192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fIfR HIS U &, ‘MOON’ & *1221” a1 SITAT 8, *SHIP® &1 “1121° foRan STl § | S HIs YN & *WATER® &1 $HIS &1 52
Options :

1. ¥ 12121

2. % 12112

3. % 12122

4. % 21121

Question Number : 8 Question Id : 60092913193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys B1, B2, B3, B4 and B5 likes one among five different fruits F1, F2, F3, F4 and F5 (not necessarily in the same order). B4 and B5 do
not like F3 or F5. B3 likes F4. B1 does not like F1 and F3. Which of the following combination is CORRECT?

Options :

1. * B4-FlI
2. % B5-F2
3.¥ Bl -F5
4. % B4-F2

Question Number : 8 Question Id : 60092913193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Ul @S% B1, B2, B3, B4 AT B5 &1 UM faf¥a Wl F1, F2, F3, F4 TUTF5 & T Toh UG & (SIs] 18! &1 341 H A 8))| B4 TUTB5 &I F3 T
F5 UGG 81 ¢ | B3 ®I F4 THE &1 B1 &1 F1 9T F3 U< el o | Fafafed § 3 oF a1 oo a8t 82

Options :

1. % B4 Fl

2. % B5_F2

3. ¥ Bl - F5

4. % B4 _F2

Question Number : 9 Question Id : 60092913194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A + B’ means ‘A is the brother of B’, ‘A — B’ means ‘A is the sister of B’, ‘A * B’ means ‘A is the father of B’, ‘A (@ B’ means ‘A is the wife
of B’ and ‘A # B’ means ‘A is the mother of B’ then which of the following expression represents T as a son in law of R?

Options :

.* P-Q#R+S@T
2.% P*Q@R+S-T
3. PHQ-R*S+T

4. Y P+Q@R*S@T

Question Number : 9 Question Id : 60092913194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A+B PIAABHTHE S, ‘A-B BT A, BHITETR, ‘A*B B3 A, BHTUAR’, ‘A @B BT 3 ‘A, BDI Uil & T
‘A#B B3 <A, BB AT R, A FERAREd ¥ ¥ 1 91 oo T Y R $T SIS ST 82

Options :

1. * P-Q#R+S@T

2% P*Q@R+S-T

3. P#Q-R*S+T

4. YP+Q@R*S@T

Question Number : 10 Question Id : 60092913195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some N are Z.
II. Some P are Z.

Conclusions:
I. Some N are P.
II. Some Z are N.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 60092913195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl IR SMUTRT & (bt U T | 3T T Hu=1 &I 98! AM, 31e 34 AE= 1 a2t
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IL.$S Z NgI
Options :

1. % pacl ey [ 3TIRU BT 7
2. ¢ Had 156 11 TRV HRaAT B




3. % QIFI S 1 T 11 3FIRRUT X &
4. % PIS 1 FIspy SRR T BraT g

Question Number : 11 Question Id : 60092913196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I.All Z are Y.

II. All Z are N.
Conclusions:

I. Al'Y are N.

II. All N are Y.
III. Some Y are N.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. ¥ Only conclusion III follows

4. % All conclusion follows

Question Number : 11 Question Id : 60092913196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (b U T | 3T T HU=1 &I 98! AM, e 374 AE= 1 a2t
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.94 N, Y B
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Options :

1. % $Had FT5HY [ 3FIERU Sl §
2. % Had [HY 11 IR0 Hdl &
3. ¢ Had By 111 3R Sl §
4. % i} Fspy SFRRUT Rl §

Question Number : 12 Question Id : 60092913197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

11:144::15:7?
Options :
1. ¥ 256
2. % 289
3. % 196
4. % 121

Question Number : 12 Question Id : 60092913197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o fau 7 fawedl o 9 efda dem &1 gl
11:144::15:7?

Options :

1. ¥ 256

2. % 289

3. % 196

4. % 121



Question Number : 13 Question Id : 60092913198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

600, 605, 615, 632, 658, ?
Options :
1. ® 678
2. % 685
3. * 688
4. ¥ 695

Question Number : 13 Question Id : 60092913198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy & &Y 1S Yaen § 9V g 3id J1d DI

600, 605, 615, 632, 658, ?
Options :
1. % 678
2. % 685
3. % 688
4. ¥ 695

Question Number : 14 Question Id : 60092913199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many man are both women and children?

Man

1\ 47
/ = —— Woman

Childisn 44

Options :
1.¥ 19
2. % 41
3. % 60
4. % 45

Question Number : 14 Question Id : 60092913199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45 TEY
41
15 19\ 47
[ AL
g
Options :
.Y 19

2. % 41



3. % 60
4. % 45

Question Number : 15 Question Id : 60092913200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One evening before sunset, A and B were talking to each other face to face. On that time A’s shadow was in the right hand of B. In which
direction was B facing?

Options :
1. ¥ North
2. * South
3. % East
4. % West

Question Number : 15 Question Id : 60092913200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U GYSRd ¥ UG, A TUT B TH-GIX & A T HRb §1d B I8 U1 39 THI A &1 BT B & a1 814 &1 3R §<i1 |1 B 7 Y fob
3R Y QT Y17

Options :

1. ¥ 3™

2. ® &

3. % Ud

4. % i3y

Question Number : 16 Question Id : 60092913201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahesh walks 50 km towards the west. He turns to the right and walks 40 km. He turns to the left and walks 30 km. He turns to the right and
walks 40 km. Finally he turns to the right and walks 140 km. How far and in which direction is he now from the starting point?

Options :
1. % 100 km, North-East



2. % 100 km, South-West
3. % 130 km, South-West
4. % 130 km, North-East

Question Number : 16 Question Id : 60092913201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Ui\ 31 3R 50 b 7. Teian 31 98 <l 3R YoaT & auT 40 fop ). Taidr &1 a8 Irft 3iR qadr & aut 30 i Y. =erar 81 a8 arff 3k
ST § T 40 fo. . Ian g | Sida:, 98 it SR a1 § 140 5.1, Iard1 g1 98 RIS foig ¥ 3@ fha-t gr aut fva fe=m # g2

Options :

1. ¢ 100 fop /Y, STR-gd

2. % 100 foo 7)., gferorafgm
3. % 130 foo. 7Y, femrafym
4. % 130 fo Y, SRUd

Question Number : 17 Question Id : 60092913202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.

[ [ ]
:EI— + || - -EI—; ?
Options :

_E_>

1. % o




(_El_

4. % 2

Question Number : 17 Question Id : 60092913202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 18 Question Id : 60092913203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.




R
Q A
3. %
L A
P
Q R
4. %

Question Number : 18 Question Id : 60092913203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaf@a gea & AT a1v Reeat & & o Reg (?) & T W HA Tl Jpia AT

A P||IR P||R A||L A
L A Q R ?
R QL Q]| Pl|Q P
Options :
Q P
R
s I A
L R
P
Q A

2. ¥




R
1@ A
3. %
L A
P
1@ R
4, %

Question Number : 19 Question Id : 60092913204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a cube of 9 cm side is divided into smaller cubes of 3 cm side, then what is the total number of smaller cubes?
Options :

1.#9

2.¥ 27

3. % 16

4. % 64

Question Number : 19 Question Id : 60092913204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe o A, YT a1 Th O Y 3 .. Yoir a1 B v A fyuor foar man B, Y B¢ o ) ot G 1 82
Options :

1. %9

2.9 27

3. % 16

4. % 64



Question Number : 20 Question Id : 60092913205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A
N
B
Options :
N4
1. %
N4
2. %
N4
3. ¢
N4




Question Number : 20 Question Id : 60092913205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE TF gUUT & AB Y@M TR WM AT, dF & 715 3cak HRadl H F i O AT 99 Hpia H Tar
giafes gef?

A
N
B
Options :
N4
1. %
N4
2. %

N4

3. ¢



N4

>
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Question Number : 21 Question Id : 60092913206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kathakali is a classical dance form of which state of India?
Options :

1. # Tamil Nadu

2. ¥ Kerala

3. % Uttar Pradesh

4, % Assam

Question Number : 21 Question Id : 60092913206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HUDBT YR & [5G T BT AR T 32
Options :

1. % diEeArg

2. ¥ B

3. % WU

4. % 34y

Question Number : 22 Question Id : 60092913207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Festival — State is CORRECT?

I. Ambubachi Festival — Assam
II. Hornbill Festival — Nagaland

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 22 Question Id : 60092913207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIER - I0 &1 Fyfoied & § & 91 3 98l /2

. SaTl ek - 3’|
1. S AER - ATTd S

Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 23 Question Id : 60092913208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Reserve ratio can also be called

Options :

1. ¥ Cash Reserve Ratio

2. # Cash Ratio

3. # Liquid Reserve Ratio

4. #¥ Required Ratio

Question Number : 23 Question Id : 60092913208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DY 30T B 1t H8T ST Tt g
Options :

1. ¢ ¢ HIY U

2. % ddhq AUld

3. % TR HIY ATd




4. % 9GP AHJUld

Question Number : 24 Question Id : 60092913209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Goods that may be used by other producers as material inputs are called
Options :

1. ¥ Intermediate goods

2. # Final goods

3. % Consumer goods

4. # Capital goods

Question Number : 24 Question Id : 60092913209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt IE ST TANT 30 IATGH ST TR & U & HR Gohd § B HEI ST g |
Options :

1. ¥ A a%qq

2. % 3iferd axqU

3. % IUYNT Iy

4. % YoflTd a¥qU

Question Number : 25 Question Id : 60092913210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements has maximum atomic radius?
Options :

1. # Boron

2. % Nitrogen

3. ¥ Lithium

4. % Oxygen



Question Number : 25 Question Id : 60092913210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & 9 ford da &1 uRaT e siftiead g2
Options :

1. % gRH

2. % 1EEIoH

3. ¢ fafags

4. % SIS

Question Number : 26 Question Id : 60092913211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area enclosed by velocity-time graph and the time axis is equal to the magnitude of
Options :

1. # Distance

2. ¥ Displacement

3. % Acceleration

4. % Momentum

Question Number : 26 Question Id : 60092913211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T qUT TR 348 & FRT ORI 1T & & TRHTON & SRR BIT 3
Options :

1. ® g

2. ¢ faRiTuA

3. % 0]

4. % AT



Question Number : 27 Question Id : 60092913212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT correct?

I. Cyclostomes are Jawless vertebrates.
II. Arthropoda is the largest group of animals.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 27 Question Id : 60092913212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiied & Q &1 91 Y= gel T8l 89

1. WaaRe I Sas Ifed HRASH! 3
1. 3MUTTIST Siq S7Td &1 JaY 981 49 ]|
Options :

1. % Had |
2. % Had Il
3. % [ UGl
4. TIRIIATR I

Question Number : 28 Question Id : 60092913213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Entire northern plains are made of
Options :

1. # Black soil

2. % Alluvial soil



3. # Laterite soil
4. % Arid soil

Question Number : 28 Question Id : 60092913213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tyt It AeH I
Options :

1. % Tl gal

2. ¢ Wi gal

3. % WIS Hal

4. % TSR HaT

Question Number : 29 Question Id : 60092913214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sardar Sarovar Dam has been built over river.
Options :

1. ¥ Narmada

2. % Tapi

3. % Brahmputra

4, % Kaveri

Question Number : 29 Question Id : 60092913214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR WIAR S1Y T R TR TR
Options :

1. ¢ THQT
2. % qrdt
3. % SR



4. % HIAA

Question Number : 30 Question Id : 60092913215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Paper was invented in about 1900 years ago.
Options :

1. # India

2. # Russia

3. % China

4. * France

Question Number : 30 Question Id : 60092913215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR BT TIHR BT 1900 T Ugd Hgarmal
Options :

1. % YRd

2. %Y

3. ¢ T

4. % 1Y

Question Number : 31 Question Id : 60092913216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vijayalaya was a ruler of dynasty.
Options :

1. ¥ Cholas

2. # Pallavas

3. # Chahamanas

4. % Chalukyas



Question Number : 31 Question Id : 60092913216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[EERISR] ERUEARURGAR]
Options :

1. ¢ 9

2. #® Ucld

3. % dgHH

4. % AR

Question Number : 32 Question Id : 60092913217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Silappadikaram was composed by
Options :

1. ¥ Ilango

2. % Kovalan

3. ¥ Madhavi

4. % Sattanar

Question Number : 32 Question Id : 60092913217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RcuafehRA B 1 ARl
Options :

1. ¢ 3@

2. % PHlda

3. % Ty
4. % gOIR



Question Number : 33 Question Id : 60092913218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

I. Mongol attacks on the Delhi Sultanate increased during the reign of Alauddin Khalji and in the early years of Muhammad Tughluq’s rule.
II. Muhammad Tughluq paid his soldiers cash salaries

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 33 Question Id : 60092913218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead & ¥ o9 91 By agt 82

1. 3ATSEH WcToll & XM H T4 JgHIE Gl & QM-I &b RY H feet TR #lidl & U1d §¢ T |
1. JeHIE S U D] B e da- ol AT

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 34 Question Id : 60092913219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is also called ‘Bismark of India’?
Options :

1. # Rabindranath Tagore

2. % Sardar Vallabhbhai Patel



3. % Bhagat Singh
4. % Chandrashekhar Azad

Question Number : 34 Question Id : 60092913219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied o ford o Sifts 3fear o we1 ST &2
Options :

1. % S SR

2. ¢ ER I IS Ued

3. % Wid Rig

4, % IEATR 3ToIG

Question Number : 35 Question Id : 60092913220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of international organisation — headquarters location is CORRECT?

I. International Labour Organisation — Geneva
II. International Atomic Energy Agency — Vienna

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 35 Question Id : 60092913220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS W6 - JeHTerd & RIM &1 Hufiiad # 9 S 91 g 0el o7

I. 3 o TS — fSmar
IL. 3 TRATY] S Yot - fag




Options

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 36 Question Id : 60092913221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which amendment act of Indian constitution, the term ‘Socialist’ was added in the preamble of the constitution?
Options :

1. ¢ 42" Amendment Act

2. % 44t Amendment Act

3. % 46" Amendment Act

4. % 74t Amendment Act

Question Number : 36 Question Id : 60092913221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRAT Jfae™ & forg TRied Sifafad gR1 Sfaem™ o TRara-1 § JASdre] Ueg sl 112

Options :

1. ¢ 427 T srfafge
2. % 447 Fe T
3. % 467 TR SfIfrIH
4. % 747 FRe ST

Question Number : 37 Question Id : 60092913222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?



I. On December 11, 1946, the constituent assembly elected Dr. Rajendra Prasad as its permanent chairman.
I1. Provision of directive principles of state policy in Indian constitution were borrowed from the constitution of Russia.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 37 Question Id : 60092913222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofeifad & ¥ o9 91 By Igl 82

I. 11 fA¥sR, 1946 B Tlae GUT A ST, IS5 YIS DI YT I 3{edef =1 41|
11 YR Tfge & Isg o1 Hifa & e aal o Uy =9 & iy 3 forar mar |

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % qEIIATE I

Question Number : 38 Question Id : 60092913223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Headquarters of International Olympic Committee is situated in
Options :

1. ¥ Switzerland

2. ® United states of America

3. # Australia

4. % France

Question Number : 38 Question Id : 60092913223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS siicifte wffifa &1 qearer H a3
Options :

1. ¢ fgeoRds

2. % Yo Y SARBT

3. % 3ffecfer

4. % BpiIg

Question Number : 39 Question Id : 60092913224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country will host 2023 Men’s Hockey World Cup?
Options :

1. ¥ India

2. # Australia

3. % China

4. % France

Question Number : 39 Question Id : 60092913224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T 2023 TFY Bi! Ay HY B AT B2
Options :

1. ¢ HRd

2. % 3fiecfer

3. % T

4. % B

Question Number : 40 Question Id : 60092913225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following is first Indian Female Swimmer to qualify Tokyo Olympic 2020 (played in 2021)?
Options :

1. # Shivani Kataria

2. # Nisha Millet

3. % Maana Patel

4. % Shikha Tandon

Question Number : 40 Question Id : 60092913225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiEd § 4 &9 A 3t 2020 (2021 H T TTT) H BIRIBIS B dTel Ugell HRAIg Afgel oR1e 82

Options :
1. % fRam serian
2. % = fircie
3. ¥ HHEIUCH
4. % fRr@rded
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Question Number : 41 Question Id : 60092913226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (4/5) of a certain number is 24, then what is the half of that number?
Options :

1. % 10

2.% 15

3. % 20

4. % 30

Question Number : 41 Question Id : 60092913226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe Teh MiYd GBI T (4/5), 24 8, T I JSHT BT YT AT 52
Options :

1. ® 10

2.¥ 15

3. % 20

4. % 30



Question Number : 42 Question Id : 60092913227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many numbers between 100 and 300 are divisible by 8?
Options :

1. % 23

2. % 24

3.¥ 25

4. % 26

Question Number : 42 Question Id : 60092913227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

100 TUT 300 & St Bt =1t A=A 8 T fauT=T 32
Options :

1. % 23

2. % 24

3.9 25

4. % 26

Question Number : 43 Question Id : 60092913228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price and selling price of a laptop are Rs. 42000 and Rs. 36540 respectively. What is the discount percentage?
Options :

1. # 10 percent

2. % 13 percent

3. # 15 percent

4. # 17 percent

Question Number : 43 Question Id : 60092913228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP QU] &1 3ifdhd Jea a1 fasha Ted HHRT: 42000 ST TUT 36540 T g | B Tfa=Td 1 82
Options :

1. % 10 Ufad=rd
2. ¢ 13 Ufaerd
3. % 15 yfad
4. % 17 9faerd

Question Number : 44 Question Id : 60092913229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what ratio sugar of Rs. 70 per kg should be mixed with another sugar of Rs. 100 per kg so that on selling this mixture for Rs. 114 per kg, there
will be a profit of 50 percent?

Options :
lI.%2:5
2. % 7:22
3.% 7:8
4.9 41

Question Number : 44 Question Id : 60092913229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

70 393 Ufd .71, aredt i+ bt 100 S0 vl fob. a1, arell =it & 91 fovsr Srura o e S difes 39 fAsor &1 114 393 Ufd b a1 &1
ST TR 50 Uf=Td Ty gRI?

Options :
1. % 2:5
2. % 7:22
3.% 7:8
4.9 4:1

Question Number : 45 Question Id : 60092913230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of a pen and a table are Rs. 1500 and Rs. 5250 respectively. Price of table is how much percent more than the price of pen?
Options :

1. # 450 percent

2. % 150 percent

3. % 350 percent

4. ¥ 250 percent

Question Number : 45 Question Id : 60092913230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh HerH YT Tl b1 e SHRT: 1500 SUY U7 5250 BT § | Sl 1 e, BerH ob Hed A b1 Uferare 3ifdes &°
Options :

1. % 450 Ufa=rd

2. % 150 Ufa=rd

3. % 350 gfa=rd

4. ¢ 250 Ufa=Id

Question Number : 46 Question Id : 60092913231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A =3250 and B = 3750. Half of the sum of A and B is 32 percent of C. What is the value of C?
Options :

1. % 18000

2. % 9007.5

3.9 10937.5

4. % 21875

Question Number : 46 Question Id : 60092913231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A =3250 TUT B = 3750, A TUT B & TNT T YT, C & 32 U= & SRR § | C BT A o1 82
Options :

1. % 18000

2. % 9007.5

3. ¢ 10937.5

4. % 21875

Question Number : 47 Question Id : 60092913232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A book is sold at a profit of 60 percent. The value of profit is what percentage of the selling price?
Options :

1. # 44.44 percent

2. # 42.56 percent

3. % 37.5 percent

4. % 33.33 percent

Question Number : 47 Question Id : 60092913232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fd1a BT 60 UTI=Id & MY TR =1 741 § | &Y 1 I faehd Yoo &1 faraT1 ufaerd g2
Options :

1. % 44 44 9fa2rd

2. % 4256 Ufa=rd

3. ¥ 37.5 Ufd=rd

4. % 3333 Gfard

Question Number : 48 Question Id : 60092913233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two articles are sold at the rate of Rs. 3600 per article. One article is sold at a profit of 60 percent and other is sold at a loss of 40 percent. What
will be overall loss percentage?



Options :

1. # 15.55 percent
2. % 14.28 percent
3. % 13.5 percent
4. ¥ 12.73 percent

Question Number : 48 Question Id : 60092913233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& g3l DI 3600 TTY TAH I¥ DI &2 Y 991 TAT § | TG a¥g Bl 60 TR o ATH IR ol 77T § T GasT a%g bl 40 fA=Id &1 g1 R
1T 8 | $d BT Uf=Id 1 /2

Options :

1. % 15.55 gfard
2. % 1428 gfa=rd
3. % 13.5 gfawrd
4. 12.73 Ufaerd

Question Number : 49 Question Id : 60092913234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of the income of Vinay and Raj is 14 : 15 respectively. If difference between their income is Rs. 5000, then what is the income of Raj?
Options :

1. ¥ Rs. 75000

2. # Rs. 80000

3. ¥ Rs. 84000

4. % Rs. 90000

Question Number : 49 Question Id : 60092913234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o7 TUT TS T ST BT SUTT HU: 14 : 15 §1 fS D1 3T & &g &1 3R 5000 TG g, A A D1 ST FT 87

Options :



1. ¢ 75000 ST
2. % 80000 ST

3. % 84000 SUY
4. % 90000 Y

Question Number : 50 Question Id : 60092913235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of ten consecutive odd numbers is 74. If next eight odd numbers are also included, then what will be average of eighteen odd numbers?
Options :

1. # 80

2. ¥ 82

3. % 84

4. % 86

Question Number : 50 Question Id : 60092913235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HANTT favH Taamafl &1 3Nd 74 g1 afe 3RTelt 3ire favww Taanaii &) o & foran S 8, Y 3roRe faww Jwnsit &1 sid & g
Options :

1. % 80

2.9 82

3. % 84

4, % 86

Question Number : 51 Question Id : 60092913236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple interest received on a sum of Rs. 22000 at the rate of 8 percent per annum is Rs. 10560. What is the time period?
Options :

1. ¥ 6 years



2. % 7 years
3. % 8years

4. # 9 years

Question Number : 51 Question Id : 60092913236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 22000 TUY B AT TR 8 UFAIT U T BT &R A 10560 TUY BT RO TS UT BT § | JHATAfY T 82
Options :

1.¥ 6dY

2. % 794

3. % 89y

4. % oqy

Question Number : 52 Question Id : 60092913237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compound interest (compounding annually) on a sum of Rs. 40000 is Rs. 29120 for three years. What will be the simple interest on the same
sum for the five years at the same rate of interest?

Options :

1. # Rs. 32000
2. % Rs. 40000
3. # Rs. 48000
4. ® Rs. 60000

Question Number : 52 Question Id : 60092913237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 40000 ¥UT P AR TR fIH I8 1 Tehgfeg TS (ATNS IS UR) 29120 ST g | FHM M TR AT Bt JH & I Grd I8 ol
HIYRUT TS &1 g2
Options :

1. % 32000 3T



2.+ 40000 ST
3. % 48000 3UY
4. % 60000 >TY

Question Number : 53 Question Id : 60092913238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit is moving at the speed of 72 km/hr. How much distance will he cover is 10 seconds?
Options :

1. ¥ 200 metres

2. % 240 metres

3. # 280 metres

4. % 320 metres

Question Number : 53 Question Id : 60092913238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afed 72 fob 1t /der 3t 1fd T T W@ 8 1 98 10 Ybs | fba-t g8t g B
Options :

1. ¢ 200 Hiex

2. % 240 HIR

3. % 280 HIR

4. % 320 Hicx

Question Number : 54 Question Id : 60092913239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train can cross a platform and a pole in 20 seconds and 12 seconds respectively. If the speed of train is 108 km/hr, then what is the length of
platform?

Options :
1. # 480 metres
2. * 360 metres



3. % 240 metres
4, % 180 metres

Question Number : 54 Question Id : 60092913239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?a%ﬂﬁqgﬁmﬁamwﬁﬁﬁ HHT: 20 YHS YT 12 FHS H UR B Foball ¢ | TS YerTa! o1 TR 108 5 1Y /gier 3, O wewrd
T2

Options :

1. % 480 e
2. % 360 HieR
3. ¢ 240 HIcR
4. % 180 Hicx

Question Number : 55 Question Id : 60092913240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shivani can complete work in 15 days. Shivani is five as efficient as Preeti. In how many days Preeti can complete the same work?
Options :

1. # 45 days

2. % 55 days

3. # 60 days

4. ¥ 75 days

Question Number : 55 Question Id : 60092913240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 te ®wrd @1 15 fom B R R ghdl 8| Rar, Bt ¥ 5 T erdpwra 71 Okt St o ) foram fom & q1 % el 82
Options :

1. % 45feq

2. % 55fqA



3. % 60 faq
4.+ 7518

Question Number : 56 Question Id : 60092913241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pramod and Suresh can complete a work in 20 days and 50 days respectively. Ram can complete the same work in 10 days more than the Suresh.
If Pramod and Ram start the work together and Suresh join them after 2 days, then how many total days will they take to complete the work from
the beginning?

Options :

1. ¥ 12 days

2. % 15 days

3. % 18 days

4. % 10 days

Question Number : 56 Question Id : 60092913241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG quT IR TH B b1 HH: 20 &7 T4 50 o7 T R Tovd & | IH THH B & IR I 10 7 31fw T QT R w1 g1 afe v
AT I e BT SR B & a1 YR=T 37 2 &1 918 I8l &, T URY I SR G-I B & oY 9 Hf o faed v

Options :

1.« 12

2. % 15feq

3. % 18feq

4. % 10fe=

Question Number : 57 Question Id : 60092913242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the diagonals of two squares are in the ratio of 3 : 7, then what will be the ratio of their areas?
Options :

1 % 3:7



5, % V3147
3¢ 9:49

4 % 9:100

Question Number : 57 Question Id : 60092913242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 3 g7If & fae Uil T SIUTd 3 ¢ 78, Y S1h &THa! T SIUTd T ST

Options :
1% 3:7
2. % V3147
;v 949
4. % 9 : 100

Question Number : 58 Question Id : 60092913243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table given below shows the percentage of marks obtained by five students A, B, C, D and E in an examination.

Each student scores marks out of 100.

Student Marks
75
72
890
78
84

o (g0 | e

What is the ratio of total marks of A and C to the total marks of D and E?
Options :

1. % 92:81

2. % 62:71

3.4 82:81

4. % 82:71

Question Number : 58 Question Id : 60092913243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T &1 912 At U 9fveT H 9= orE A, B, C, D dUT E S@RT YT 3Rl FT Y gedr 1 9
oI & 100 H ¥ & 9reg g9 gl

oI HFH
i
72
89
78
84

m oo || r

A @7 C & Fof 3R &1 D a7 E & Fof 3l § &7 I g7

Options :

1. % 92:81
2. % 62:71
3.9 82:81
4, % 82:71

Question Number : 59 Question Id : 60092913244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The line chart given below shows the value of export divide by the import of a company for 5 years.

1.5
1.2
1.1

0.5

2010 2011 2012 2013 2014

In how many of the years were the export more than the imports for the company?
Options :

1. # One

2. % Two

3. ¥ Three

4. % Four

Question Number : 59 Question Id : 60092913244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A feam w1ar Y@ = 5 A & T v S % 3T G e e & Jew @ e g

1.5

1.2

1.1

0.5

2010 2011 2012 2013 2014

forae et 7 T, 97 & T 3maa ¥ 3o oar?
Options :
1. ®# b
2. % Q)
3.9 T
4. % IR

Question Number : 60 Question Id : 60092913245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows the number of males and females in five states.

600 600
500300
400 400
300 300
250
200
51 52 53 54 55
OMale @Female

Which of the following statement is CORRECT?
I. The number of males in S1 is 150 percent of the number of females in that state.

II. The difference between number of males and females in all states are 50.
Options :
1. % Only 1
2. ¥ Only II
3. ¥ BothIand Il
4. ® Neither I nor 11

Question Number : 60 Question Id : 60092913245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e fe T AR AF 9T TSI A TR a7 Afgensi H AT F A g

600

600
500500
400 400
300 300
250
200
51 52

53 s4 S5
OT&s @ &feer

TRRT & @ Sl @ Fua @ar g
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 60092913246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Carbon dioxide is the/mostly common/greenhouse gas in the atmosphere./ No error
Options :

1. * Carbon dioxide is the

2. ¥ mostly common

3. * greenhouse gas in the atmosphere.

4. % No error

Question Number : 61 Question Id : 60092913246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Carbon dioxide is the (1)/mostly common (2)/greenhouse gas in the atmosphere. (3)/ No error (4)
Options :

1. # Carbon dioxide is the

2. % mostly common

3. % greenhouse gas in the atmosphere.

4. % No error

Question Number : 62 Question Id : 60092913247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Asteroids in the/asteroid belt move/ very fastly./No error
Options :

1. # Asteroids in the

2. # asteroid belt move

3. ¥ very fastly.

4. # No error

Question Number : 62 Question Id : 60092913247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Asteroids in the/asteroid belt move/ very fastly./No error
Options :

1. # Asteroids in the

2. # asteroid belt move

3. % very fastly.

4, % No error



Question Number : 63 Question Id : 60092913248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He had not seen the crime seen yet.
Options :

1. ¥ seen the crime scene
2. * scene the crime scene
3. #* scene the crime seen

4. ¥ No improvement

Question Number : 63 Question Id : 60092913248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He had not seen the crime seen yet.

Options :

1. % seen the crime scene
2. % gscene the crime scene
3. # scene the crime seen

4. ¥ No improvement

Question Number : 64 Question Id : 60092913249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Not only do Jimmy waited about Ayush, but he also missed his match.



Options :

1. % does Jimmy waited for Ayush

2. ¥ did Jimmy waited for Ayush

3. # does Jimmy waited about Ayush

4. ¥ No improvement

Question Number : 64 Question Id : 60092913249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Not only do Jimmy waited about Ayush, but he also missed his match.

Options :

1. * does Jimmy waited for Ayush

2. % did Jimmy waited for Ayush

3. # does Jimmy waited about Ayush

4. % No improvement

Question Number : 65 Question Id : 60092913250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

Girls are more to drop out of school than boys due to family pressure.
Options :

1. % largely

2. # like

3. ¥ likely

4. % liked

Question Number : 65 Question Id : 60092913250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

Girls are more to drop out of school than boys due to family pressure.
Options :

1. % largely

2. # like

3. ¢ likely

4, # liked

Question Number : 66 Question Id : 60092913251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

A wolf tried to convince Red to come out of the cottage and into the woods.
Options :

1. # rotten

2. ¥ shady

3. % benign

4. % altruistic

Question Number : 66 Question Id : 60092913251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

A wolf tried to convince Red to come out of the cottage and into the woods.
Options :

1. # rotten

2. ¥ shady

3. * benign

4. % altruistic



Question Number : 67 Question Id : 60092913252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Crop failure can occur over large areas downwind from major ash eruptions, and widespread famine and disease may result, especially in
poorly developed countries.

Q: However, where the ash accumulates more than a few centimetres, collapsing roofs and failure of crops are major secondary hazards.

R: Ash falls from continued explosive jetting of fine volcanic particles generally do not cause any direct fatalities.

S: In the long run, however, the decomposition of nutrient-rich volcanic fallout is responsible for some of the world’s best soils.

Options :

1. % SRQP
2. % RPSQ
3. % QSPR
4. ¥ RQPS

Question Number : 67 Question Id : 60092913252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Crop failure can occur over large areas downwind from major ash eruptions, and widespread famine and disease may result, especially in
poorly developed countries.

Q: However, where the ash accumulates more than a few centimetres, collapsing roofs and failure of crops are major secondary hazards.

R: Ash falls from continued explosive jetting of fine volcanic particles generally do not cause any direct fatalities.

S: In the long run, however, the decomposition of nutrient-rich volcanic fallout is responsible for some of the world’s best soils.

Options :

1. ¥ SRQP
2. % RPSQ
3. ¥ QSPR
4. ¥ RQPS



Question Number : 68 Question Id : 60092913253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: His other major discovery, of the antiseptic enzyme lysozyme in 1921, was made after he had accidentally contaminated a culture plate with
his own flu germs.

Q: Incidentally, Fleming seemed to thrive on contamination.

R: The mould toxin responsible for killing the bacteria turned out to be penicillin, which Australian pathologist Howard Walter Florey and British
biochemist Ernst Boris Chain later successfully isolated and purified to produce what became arguably the world’s most effective live-saving
antibiotic.

S: In 1928 Scottish bacteriologist Alexander Fleming was in the process of sterilizing bacterial culture plates that had become contaminated with
mould when he noticed clear zones circling mould colonies.

Options :

1. ¥ SRQP
2. % PSRQ
3. ®* QRPS
4. % SPQR

Question Number : 68 Question Id : 60092913253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: His other major discovery, of the antiseptic enzyme lysozyme in 1921, was made after he had accidentally contaminated a culture plate with
his own flu germs.

Q: Incidentally, Fleming seemed to thrive on contamination.

R: The mould toxin responsible for killing the bacteria turned out to be penicillin, which Australian pathologist Howard Walter Florey and British
biochemist Ernst Boris Chain later successfully isolated and purified to produce what became arguably the world’s most effective live-saving
antibiotic.

S: In 1928 Scottish bacteriologist Alexander Fleming was in the process of sterilizing bacterial culture plates that had become contaminated with
mould when he noticed clear zones circling mould colonies.

Options :
1. ¥ SRQP
2. % PSRQ



3. % QRPS
4. % SPQR

Question Number : 69 Question Id : 60092913254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Greed

Options :

1. * Analogous
2. ¥ Avarice

3. # Allay

4. * Alloy

Question Number : 69 Question Id : 60092913254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Greed

Options :

1. * Analogous
2. ¥ Avarice

3. % Allay

4. % Alloy

Question Number : 70 Question Id : 60092913255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Inspire



Options :

1. # Reassure
2. # Educe
3. % Daunt
4. ¥ Wrest

Question Number : 70 Question Id : 60092913255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Inspire
Options :

1. # Reassure
2. % Educe
3. % Daunt
4. ¥ Wrest

Question Number : 71 Question Id : 60092913256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Racun

2. # Raccon

3. ¥ Recoon

4. % Raccoon

Question Number : 71 Question Id : 60092913256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.



Options :

1. # Racun
2. # Raccon
3. % Recoon
4. ¥ Raccoon

Question Number : 72 Question Id : 60092913257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Missisippi

2. % Mississippi

3. # Misissippi

4. ® Mississipi

Question Number : 72 Question Id : 60092913257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Missisippi

2. % Mississippi

3. # Misissippi

4. % Mississipi

Question Number : 73 Question Id : 60092913258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To move heaven and earth



Options :

1. # Under a moral obligation
2. # To do all the work on time
3. % To make maximum efforts

4. # To accept a disaster

Question Number : 73 Question Id : 60092913258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To move heaven and earth
Options :

1. # Under a moral obligation
2. % To do all the work on time
3. % To make maximum efforts

4. # To accept a disaster

Question Number : 74 Question Id : 60092913259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To blow the gaff

Options :

1. ¥ To reveal a secret

2. % To be happy

3. % To give up on one’s plan

4. % To be apologetic

Question Number : 74 Question Id : 60092913259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To blow the gaff

Options :

1. ¥ To reveal a secret

2. % To be happy

3. % To give up on one’s plan

4. # To be apologetic

Question Number : 75 Question Id : 60092913260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The vegetation of a particular area
Options :

1. # Fauna

2. ¥ Flora

3. # Epidemic

4. % Landscape

Question Number : 75 Question Id : 60092913260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The vegetation of a particular area

Options :

1. #* Fauna

2. ¥ Flora

3. % Epidemic

4. # Landscape

Sub-Section Number : 2



Sub-Section Id : 600929859
Question Shuffling Allowed : Yes

Question Id : 60092913261 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Natural fibre, any hairlike raw material directly obtainable from an animal, vegetable, or mineral source and convertible into nonwoven fabrics
such as felt or paper or, after spinning into yarns, into woven cloth. A natural fibre may be further defined as an agglomeration of cells in which
the diameter is negligible in comparison with the length. Although nature abounds in fibrous materials, especially cellulosic types such as cotton,
wood, grains, and straw, only a small number can be used for textile products or other industrial purposes. Apart from economic considerations,
the usefulness of a fibre for commercial purposes is determined by such properties as length, strength, pliability, elasticity, abrasion resistance,
absorbency, and various surface properties. Most textile fibres are slender, flexible, and relatively strong. They are elastic in that they stretch
when put under tension and then partially or completely return to their original length when the tension is removed.

Natural fibres can be classified according to their origin. The vegetable, or cellulose-base, class includes such important fibres as cotton, flax, and
jute. The animal, or protein-base, fibres include wool, mohair, and silk. An important fibre in the mineral class is asbestos.

The vegetable fibres can be divided into smaller groups based on their origin within the plant. Cotton, kapok, and coir are examples of fibres
originating as hairs borne on the seeds or inner walls of the fruit, where each fibre consists of a single, long, narrow cell. Flax, hemp, jute, and
ramie are bast fibres, occurring in the inner bast tissue of certain plant stems and made up of overlapping cells. Chemically, all vegetable fibres
consist mainly of cellulose, although they also contain varying amounts of such substances as hemicellulose, lignin, pectins, and waxes that must
be removed or reduced by processing.

The animal fibres consist exclusively of proteins and, with the exception of silk, constitute the fur or hair that serves as the protective epidermal
covering of animals. Silk filaments are extruded by the larvae of moths and are used to spin their cocoons.

With the exception of mineral fibres, all natural fibres have an affinity for water in both liquid and vapour form.

Sub questions

Question Number : 76 Question Id : 60092913262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. % History of Natural Fibres

2. ¥ Natural Fibres and their Classification

3. % Properties of Natural Fibres

4. ¥ What is Natural Fibre?



Question Number : 77 Question Id : 60092913263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the bast fibres?
Options :

1. # Flax

2. ¥ Asbestos

3. # Jute

4. ® Hemp

Question Number : 78 Question Id : 60092913264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, all the statements are correct EXCEPT:

Options :

1. # Mineral fibres do not carry an affinity for water in both liquid and vapour form.
2. ® Kapok fibre consists of a single, long, narrow cell.

3. # Most textile fibres are elastic in nature as they stretch when put under tension.

4. ¥ All animal fibres constitute the fur that serves as the protective epidermal covering of animals.

Question Number : 79 Question Id : 60092913265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the incorrect pair of ‘type of natural fibre-example’ from the following.

I. Animal fibre- Cotton
II. Mineral fibre- Mohair

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II



Question Number : 80 Question Id : 60092913266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the SYNONYM of the word ‘commercial’ as used in the passage?
Options :

1. ¥ Materialistic

2. * Unsalable

3. % Scanty

4. * Dynamic

Question Id : 60092913261 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Natural fibre, any hairlike raw material directly obtainable from an animal, vegetable, or mineral source and convertible into nonwoven fabrics
such as felt or paper or, after spinning into yarns, into woven cloth. A natural fibre may be further defined as an agglomeration of cells in which
the diameter is negligible in comparison with the length. Although nature abounds in fibrous materials, especially cellulosic types such as cotton,
wood, grains, and straw, only a small number can be used for textile products or other industrial purposes. Apart from economic considerations,
the usefulness of a fibre for commercial purposes is determined by such properties as length, strength, pliability, elasticity, abrasion resistance,
absorbency, and various surface properties. Most textile fibres are slender, flexible, and relatively strong. They are elastic in that they stretch
when put under tension and then partially or completely return to their original length when the tension is removed.

Natural fibres can be classified according to their origin. The vegetable, or cellulose-base, class includes such important fibres as cotton, flax, and
jute. The animal, or protein-base, fibres include wool, mohair, and silk. An important fibre in the mineral class is asbestos.

The vegetable fibres can be divided into smaller groups based on their origin within the plant. Cotton, kapok, and coir are examples of fibres
originating as hairs borne on the seeds or inner walls of the fruit, where each fibre consists of a single, long, narrow cell. Flax, hemp, jute, and
ramie are bast fibres, occurring in the inner bast tissue of certain plant stems and made up of overlapping cells. Chemically, all vegetable fibres
consist mainly of cellulose, although they also contain varying amounts of such substances as hemicellulose, lignin, pectins, and waxes that must
be removed or reduced by processing.

The animal fibres consist exclusively of proteins and, with the exception of silk, constitute the fur or hair that serves as the protective epidermal
covering of animals. Silk filaments are extruded by the larvae of moths and are used to spin their cocoons.

With the exception of mineral fibres, all natural fibres have an affinity for water in both liquid and vapour form.

Sub questions

Question Number : 76 Question Id : 60092913262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. #® History of Natural Fibres

2. ¥ Natural Fibres and their Classification

3. # Properties of Natural Fibres

4. % What is Natural Fibre?

Question Number : 77 Question Id : 60092913263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the bast fibres?
Options :

1. # Flax

2. ¥ Asbestos

3. % Jute

4. ¥ Hemp

Question Number : 78 Question Id : 60092913264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, all the statements are correct EXCEPT:

Options :

1. #® Mineral fibres do not carry an affinity for water in both liquid and vapour form.
2. # Kapok fibre consists of a single, long, narrow cell.

3. # Most textile fibres are elastic in nature as they stretch when put under tension.

4. ¥ All animal fibres constitute the fur that serves as the protective epidermal covering of animals.

Question Number : 79 Question Id : 60092913265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the incorrect pair of ‘type of natural fibre-example’ from the following.



I. Animal fibre- Cotton
II. Mineral fibre- Mohair

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 80 Question Id : 60092913266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the SYNONYM of the word ‘commercial’ as used in the passage?
Options :

1. ¥ Materialistic

2. # Unsalable

3. # Scanty

4. ®# Dynamic

General Hindi
Group Number : 5
Group Id : 600929562
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 60092913267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T 2eg & TR WY fawyq 1 = BT

ERIS
Options :

1. ® §+ g
2. % G+ ¢
3. ¢ ST + 3(q
4. % SR+ a:

Question Number : 81 Question Id : 60092913267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 70 Ysg & Al Y fowse &1 9= Sifviu|
ERIBH

Options :

. % §+@Hg

2. % §@T+4g




3. ¢ g + 3G
4. ® g+ g

Question Number : 82 Question Id : 60092913268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 1T Wsg 1 A J1d BIfSTT |

HETAR

Options :

1. ¢ Sgdifg Iury
2. % gg ga™

3. % fgrauN

4. % HHYRY AN

Question Number : 82 Question Id : 60092913268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T TT Wsg 1 HH J1d HIfSTT|

HETAR

Options :

1. ¢ dgdife 9ar™
2. % gg gHNY

3. % fgrauN

4. % HHYRY THY

Question Number : 83 Question Id : 60092913269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o ¥ I 91 eg <=1 82

Options :




1. % 3dia
2. % T
3. % SR
4. TR

Question Number : 83 Question Id : 60092913269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o ¥ I 91 eg <=1 82
Options :

1. % 3Uid

2. % oIMH

3. % g}

4.« HCRI

Question Number : 84 Question Id : 60092913270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u 7T are & Rad ®iFE &1 gfd Sifr|
GRIECAT B A 7 $1 g BT 37 (b B AT B |

Options :
1. % fspardm
2.9 Jhddl
3. % ®Y
4. % T

Question Number : 84 Question Id : 60092913270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 g S



AP TN B I I & gfk BT 374 B gl T g |
Options :

1. % MY

2. ¢ ThaAdl

3. % ®H

4. % gAY

Question Number : 85 Question Id : 60092913271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT U Trec &1 fadH Weg J1d BT

U=y
Options :

1. % Tl

2.« DA
3. % feifad
4. % yguiq

Question Number : 85 Question Id : 60092913271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T g 1 faei e s F1d BT

ey
Options :

1. % Wl

2. ¢ HIId
3. % fafad
4, % yguid



Question Number : 86 Question Id : 60092913272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T Ysg 1 yafgarht 31d SR
fOan

Options :

1. ¥ SHh
2. % [UATHD
3. % UM

4. % 3frdl

Question Number : 86 Question Id : 60092913272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T Tsg 1 yafgaT 31d ST
fOar

Options :

1. ¥ S
2. % fUATHS
3. % U

4. % 3fcrdl

Question Number : 87 Question Id : 60092913273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad rsal # ¥ Y aa-1 &1 T il |
Options :

1. % B

2. % fwor

3. ® HgTelfdl



4. QI

Question Number : 87 Question Id : 60092913273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad weal & T Y aa- &1 994 Hifod |
Options :

1. % B

2. % iy

3. % HgIafel

4. ¢ &0

Question Number : 88 Question Id : 60092913274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad arel § ¥ R a1 &1 99 Bt |
Options :

1. ¥ AR B &9 B RIuTgl UdheH alsll

2. % S IR P! 7N dd RIURT ID! UhHe Gl
3. % AR B <@ 3R RyuTgt uweA gl

4. % IR P! aE@d 81 RIS ube gl

Question Number : 88 Question Id : 60092913274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad arerl 4 O aT &1 99 Fiford |
Options :

1. ¥ IR B &g B RIuTgl ubeH alsll

2. % 9§ IR &I <@ 99 RuTel 3TH! Uh s gIs|
3. % IR P W1 3R RAurg) usweA STl

4. % IR B ¢@d Bl RUTE! UdheA qrel




Question Number : 89 Question Id : 60092913275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad ol § § IR 919 &1 999 Sl |
Options :

1. ¢ S @R SI1d §U Yol & 1Y Weiat ot

2. % iR Td U B Yol & 1 e i

3. % =iq 3R JoT WY Weld §U TR S Y|

4. % 9 =g WR St ot Uge 98 ol o 1 Qe ot

Question Number : 89 Question Id : 60092913275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad aredl # ¥ IRa a9 &1 994 Difod |
Options :

1. ¢ i O SITd §U Yol & 1y Wea i

2. % HIq TR SI1d §U I ol o 1y Weia &t

3. % g 3R IoT 1Y Wad g R O Y|

4. % S I OR St AT Ugd 98 Yol o A1 Wt At

Question Number : 90 Question Id : 60092913276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad & 9 FAfeRT F1d Bifo|
Options :

1. ¢ et

2. % AR

3. % gqrl

4. % FHal



Question Number : 90 Question Id : 60092913276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeRad & & THfeRT I1d Siferu
Options :

1. ¢ Hiert

2. % TR

3. % garl

4. % FHal

Question Number : 91 Question Id : 60092913277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71U 91T BT Tl AT DITSIT|

ATl ST J Wl &1 Tt g7 Tl
Options :

1. % YT aaqH

2. gl o

3. % 3F Yd

4. % O Yd

Question Number : 91 Question Id : 60092913277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T aTeR 1 STl A BT

ATl STt 9 Urell I ¥t 8T ol
Options :

1. % YT 9dH9H



4. % JHET Yd

Question Number : 92 Question Id : 60092913278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U a19 # g fav ”RIg &1 SUdT fohar Sei S9! Ugd S|
fa=<t YT 1 I8 1 At faRwer § frR dgep! 3 701 AFT @ <l =T8T

Options :
1. 2-’\-5 [(132) |

2. % <9
3.9 7
4. % .9

Question Number : 92 Question Id : 60092913278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ It | T forme g &1 SUaiT fhan S S9! uga™ Sifvg|
fe=<t U Bt g DI At fa=iwer § f12 SRgeh! A 101 AT § 2l el

Options :

l.wLCT)l
2.% 79
3.¢ )7

4, % .9

Question Number : 93 Question Id : 60092913279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed o1 9o 3 o1t T 70 JRTar & 3 &1 Jd9§ U ¥ oJad HRal g |

CArRRGICRE




Options :

1. ¢ U g R GIRI g9 BT
2. % R gH

3. % g T@H AT

4. % ISR HIJ/ATAIR D

Question Number : 93 Question Id : 60092913279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fawen &1 7997 & S fou U geTak & 31 ol Ia9% U § oJad Rl g |

CARERCIC R

Options :

1. ¢ Uoh g R ORI -9 BT
2. % SRS

3. % g9 @H g

4. % IR P I{ATTIR b

Question Number : 94 Question Id : 60092913280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 3 ol Ia9% U I oJad HRdl ¢ |
IR

Options :

1. ¢ DS B

2. % 3 PhTH

3. % dgd 3 Hh1H

4. % ISI I GRpdl H1H

Question Number : 94 Question Id : 60092913280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraforiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 3 ol Ia9% U I oJad HRdl ¢ |
IR

Options :

1. ¢ DS B

2. % 3 dMH

3. ® dgd AT HH

4. % YIS 91 g d By

Question Number : 95 Question Id : 60092913281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fawen &1 7997 & S fou U geTak & 31 ol Yd9% U § ogad Rl g |
ST ST ST 81, BUs W ol o gafl

Options :

1. ¢ ISP 9% g q g Pig S 8] 81 S
2. % I 3G T¢, Al-i ol dh

3. % SR T I 2 81, 3R SR ATl o ot

4. % g T IAH 3R T H F-T

Question Number : 95 Question Id : 60092913281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 31 ol Ia9% U I oJad HRal ¢ |
ST STd ST 8T, s ¥ df T g3l

Options :

1. ¢ IR 9% Ug1 T g piIs St 78T g1 7l
2. % SI-S4I TG T, Ji-l hodl B

3. % Sft Bt 1 ot 81, 3R S ot v o




4. % Hg T IH-IH 3R S H G

Sub-Section Number : 2
Sub-Section Id : 600929861
Question Shuffling Allowed : Yes

Question Id : 60092913282 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRITRT 1 YD Ug 3R [T Y U4l o1 98! SaR < |

FHEAT oG O el e 8 1 %d 817 & o S} DIRIa o1 STa<addl gl 81 T8 JrdHiile ¥ 78 Uit iR off Sa1 g ey gl g | ga
St fopt 4 =T & ArAToTeh Ud s faesr &1 71t & aTel! dTehd & bl 8, I=Id 39 THTAT &0 3 = €t S| SIra fasr 8k
ISR 39 d1hd 1 3 9T & JaY 3 1Y 5 |

AT ST & AT H YR & U g1 &1 969 98T HeR &, fhr ot URdTg e =1d A1a 96 &1 Serewd fhead 9 S B 8 |
HROTISR & [T 1A= (ARSI Bt HH | YH R BT 2014 B RUIKE & IR URA & SNUARS U I HRA HRAGA BT aqHH
THR Had 2 UIARId & | 3 SATdT TRURS 18T U H3 arel JaTsfi & §g a1 &1 JAoHTR Fa el argdl dI gArd 1T 8 | JaT S &
AWA T YR & UM g1 &1 Tl 98T HeR 8, iR Hft WRdTa faiear $3d 7a 96 o1 Slekexd fdhead 9 S 38 & | HRUIIAISHIR &
%Eaﬂagaﬁﬁ@maﬁWI o SR DI 2014 HI NUIE & STIR HRA H SIS T4 I HA BRI BT dHH HTHR Had 2
PIGRGE

R RT 3RY T U v Efsar iR &1 A& SIA T HRd gU ISR & o7 HIa H1 9 daR B 39 THAT BT FHIU
IUAS] BT 2 | A=A BT A8 2022 TP 40 FRIS F 3B AN B HIA UG HRAT AU I UG & DIl T RN I U It
AR it avad &1 e gl

Sub questions

Question Number : 96 Question Id : 60092913283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qhd B & 7T 7 STl 82

Options :

1. % Hgd

2. % THAYN

3. ¥ DR

4. % 4g



Question Number : 97 Question Id : 60092913284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rt §T&ar =M fhd & gRT 3RH fbT mam
Options :

1. % IXDPR

2. % gfer

3. % ZlaR

4. % ER

Question Number : 98 Question Id : 60092913285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o SR BT 2014 Bt U B 312
Options :

1. # 2015

2.% 2014

3. % 2016

4, % 2018

Question Number : 99 Question Id : 60092913286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o= &1 e 2022 I fhd ATl &l ST U BT U1
Options :

1. ¢ 40 TRIS T 3P

2. % 40 PSS I HH

3. % 40 RIS Y 954 3D
4. % 50 RIS T 3P

Question Number : 100 Question Id : 60092913287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR & &t XM &1 Igq Hiford |
Options :

1. % Gy HAT grorT

2. ¢ DI ABT I

3. % fqpT=1 Ao

4. % T H3l f9mrg giorn

Question Id : 60092913282 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR 1 YD Ug 3R T 7Y Uil o1 I8! SaR & |

THAAT oG 4 el Fed 8 | 0hd 811 & (oY STes! DIRId &1 Sa=adhdl gkl & | I8 YdHIHS I 18 Uiel IR off SaT 8 ey gl g | gal
Soit fpdt HY 2 & grHTiore Td e faetg &Y Tfd &1 aTelt dihd 99 Tbdl! 8, T=Id 39 UHIA! 0 J femn &) 9w | Sierd faerg ik
AR 39 dTehd B 3T g & T 3/ e & |

AT SRS & HTAS # YR & U1 g1 &1 o F781 4R g, fihR ot YR Faed $21d A1 9 &1 Slekexd fhead 9 9= 38 & |
HRUT ISR & T 3aaes fARw=rar &t Bt | 91 SR o1 2014 B RAKE & TR HRA B U= U F H SRITA BT IGHH
TR Had 2 UA=Id 8| §Td SfAral URURSD RI&T UTed $H=- aral Jarsii & s aif &1 JAoHTR et T o1 A off g1 gaT SHee &
O # YR & U1 g1 &1 9l 981 HR &, fiR Hff YR Fitad $31 A1Md 9 &1 STeRe X fhead U o3 38 & | PRI AR &
W&T%@Wﬁﬂl T SR D1 2014 Bt RUIE & TR YR T U= 9 Y HIA ST HI IdHH HHR Had 2
PISRGE

WBR GRT ARY T Y Rpat SFear =M &1 767 I UaH H3d gU AR & [0 HIA B 9 dAR B 59 THAT BT THUH
U FHRIT ¢ | TR BT 6T 2022 TH 40 FRIS I YD AN bl DI UG HAT TUT D! UG P DIl 1 WIRIE0N & g 31
AR Teieft T1adr 1 dgrHT 8 |

Sub questions

Question Number : 96 Question Id : 60092913283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el B b foTT T SR 82

Options :



1. % AgId
2. % ITAIYT
3. ¢ I
4. % O

Question Number : 97 Question Id : 60092913284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRepa Sfean frer food & gRT SRy foby mam
Options :

1. ¢ ARXHR

2. % gfery

3. % glaeX

4. % dR

Question Number : 98 Question Id : 60092913285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST R DI 2014 BT U FH 312
Options :

1. % 2015

2.9 2014

3. % 2016

4. % 2018

Question Number : 99 Question Id : 60092913286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR BT & 2022 TP fobd= ART DT HIRTS UG BHRAT UT?
Options :

1. ¢ 40 RIS I 3P

2. % 40 PRIS I HH



3. % 40 RIS Y 954 3D
4. % 50 RIS I TS

Question Number : 100 Question Id : 60092913287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN & gl e o1 I FHifo |

Options :

1. % g HA1 Ao

2. PINE BT I

3. % T i

4. % Y HA fae Ao

Disciplinel
Group Number : 6
Group Id : 600929563
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 600929718
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929862
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 60092913288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the respiratory pathway, which of the following compounds is NOT an intermediate in the Kreb's cycle?
Options :

1. ¥ Phosphoglyceric acid

2. % Oxaloacetic acid

3. # Succinic acid

4. % Malic acid

Question Number : 101 Question Id : 60092913288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 Ty B, EfRad & 4 & 91 iR ohd 9% | Aeadl el o7
Options :

1. ¢ BIEBIERS TRIS

2. % Jagrdgdics TRig

3. % TS TR

4. % Afcrd TRTS

Question Number : 102 Question Id : 60092913289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following molecules is generally NOT required for making recombinant DNA?
Options :



1. # Restriction enzyme
2. % Vector

3. % DNA ligase

4. ¥ Taq polymerase

Question Number : 102 Question Id : 60092913289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ®F 91 3 3MTHAR TR Y: Y416 S1.UA.E. (DNA) §H & foe siazass 81 /2
Options :

1. % Yidee arel ToreH

2. % daey

3. % SLTAT (DNA) ferist

4. ¢ TH RS

Question Number : 103 Question Id : 60092913290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parts of a seed is NOT of embryonic origin?
Options :

1. # Shoot apical meristem

2. % Hypocotyl

3. ¥ Testa

4. % Cotyledon

Question Number : 103 Question Id : 60092913290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

it 1 FRferiRad o 19 |1 HFT YUr 99 &1 181 82

Options :

1. % g¢ TUdhd ARH



2. % greUBICA
3. ¢ oI
4. % PIctdred

Question Number : 104 Question Id : 60092913291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Biological systematics is the study of the of living forms, both past and present, and the relationships among living things through
time.

Options :

1. % Synthesis

2. % Analysis

3. % Diversification

4. ¥ Development

Question Number : 104 Question Id : 60092913291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifde qrffer=ur fasm srcdld $fR I Gl & Siifdd &4i & 3R THY & HIHH Y ol diell & sitd Jeftl 1 3 5|
Options :

1. % GO

2. % fagamo

3. ¢ fafaditenur

4. % qaffenoll s

Question Number : 105 Question Id : 60092913292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Technologies used by plant breeders for developing new varieties does NOT include:
Options :

1. # Embryo culture

2. #® Marker-assisted selection



3. # Genetic engineering
4. ¥ Selection

Question Number : 105 Question Id : 60092913292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T2 frwt ot fasRid A & o UTe U Uoieh! gRT SUGIT &1 A dTelt deb-id! # T JMfAe T8l 82
Options :

1. % Yo i

2. % HIHR-TeTd Ia (MAS)

3. % SHfce SefifAafaT

4. ¢ Tgdq

Question Number : 106 Question Id : 60092913293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ergot disease is caused by the fungal pathogen Claviceps purpurea in crop plants like Bajra. Symptoms of this disease are seen in which of the
following parts of the plant?

Options :
1. # Root
2. % Stem
3. % Leaf
4. ¥ Flower

Question Number : 106 Question Id : 60092913293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁgﬁﬁ%ﬂgmuﬁﬁmw el & Hadh AT dllaw QRYRAT & BRUT g1 ¢ | 59 T & &0 el & Fafafiad & 9 fosg wmr o

Options :
1. # 5§
2. % -l




3. % U
4.9 5d

Question Number : 107 Question Id : 60092913294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ozone layer in the atmosphere shields us from harmful UV rays from the sun. This layer is damaged by:
Options :

1. # Acid rain

2. ¥ Chlorofluorocarbons

3. # Nitrogen dioxide

4. % Lightning

Question Number : 107 Question Id : 60092913294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JRgHEd | SIS URd 86 9T I 3T a7l giHeRe gd! fhrul I Fard § | 59 IRd &I JHaH aidl 5:
Options :

1. % TRIS A

2. ¥ FARIKISHRIBTEI

3. % qIECIoH SrE3HRTEe

4. ® Qe

Question Number : 108 Question Id : 60092913295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bacteria share the following feature with protozoa:
Options :

1. # Presence of nucleus

2. % Presence of cell wall

3. ¥ Presence of plasma membrane



4. % Presence of contractile vacuole

Question Number : 108 Question Id : 60092913295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR Tiersie & A1y FafaRad foRvar amem #d &
Options :

1. % YD DI JulRfd

2. % DIRAHT N Bt IURAT

3.  TATGHT foreetl @1 SuiRufd

4. % el g Riddsr o1 SufRfd

Question Number : 109 Question Id : 60092913296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does NOT represent an Archegoniate?
Options :

1. # Marchantia

2. #% Cycas

3. % Allium

4. % Pteridium

Question Number : 109 Question Id : 60092913296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & U6 TUHIgad (3MHIHEe) BT Ui T8l Rl 82
Options :

1. % Tafea

2. % {ighyd

3. ¢ TfergH

4. % SRfgTH



Question Number : 110 Question Id : 60092913297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a biome?
Options :

1. # Grassland

2. % Forest

3. # Desert

4. ¥ Mountain

Question Number : 110 Question Id : 60092913297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 9 81 82
Options :

1. % Y W]

2. % dq

3. % IR

4. ¥ Ugls

Question Number : 111 Question Id : 60092913298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following processes does NOT contribute to genetic diversity?
Options :

1. % Mutation

2. % Genetic drift

3. ¥ Migration

4. ¥ Selective breeding

Question Number : 111 Question Id : 60092913298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ o Tt ufssar smdfie fafaear & arrem T8t #dt 82
Options :

1. % IARad"

2. % 3IGIRID §g1d

3. % Yyay

4. ¢ JGATHSD YT

Question Number : 112 Question Id : 60092913299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are NOT involved in the manifestation of an immune response?
Options :

1. # Lymphocytes

2. ® Neutrophils

3. % Erythrocytes

4. ¥ Macrophages

Question Number : 112 Question Id : 60092913299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 @ o1 uforan ufafsar &1 sifeafd & wnfie a8 82
Options :

1. % ferpIge

2. % Ylfhe

3. ¢ WYNRe

4. % HpIBIY

Question Number : 113 Question Id : 60092913300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which one of the following branches of genetics deals with studies on the structure of DNA within the cell nucleus?
Options :

1. ¥ Cytogenetics

2. % Psychogenetics

3. % Biogenetics

4. % Cryokinetics

Question Number : 113 Question Id : 60092913300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR fagm @) Fufeiad & @ &1 Tt WRaT SR & dgd H Hisle 31U (DNA) & 37eq9 3 Iefdd g2

Options :

4. % 39 ARIDT (BrABRAfCH)

Question Number : 114 Question Id : 60092913301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Genetic engineering, also called genetic modification or genetic manipulation, is the direct manipulation of an organism's genes using:
Options :

1. # Bioinformatics

2. ¥ Biotechnology

3. % Biogenetics

4. ¥ Biologics

Question Number : 114 Question Id : 60092913301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R Sftrifent ford STaifies e T SHTaific Ugwa Hgl ol @, 1 UGN Hd §U fobdt UToft o St




U SGaTd B ol
Options :

1. % Sg g fagm

2. ¢ S Nt

3. % g SfTIdfRre!

4. % Sfgep (@)

Question Number : 115 Question Id : 60092913302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the is not functioning as it should, it can result in disease, such as autoimmunity, allergy and cancer.
Options :

1. * Genome system

2. % immune system

3. % DNA science

4. ¥ RNA science

Question Number : 115 Question Id : 60092913302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SiHH &=

2.« fcR& o

3. # ST (DNA) fagH

4. % JRTAT (RNA) fag=

Question Number : 116 Question Id : 60092913303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of enables scientists to understand how cell programs and reactions function normally as well as the relationships between
those processes and gene expression.



Options :

1. * molecular cell chemistry
2. # molecular cell ecology
3. % molecular cell biology

4. % molecular cell informatics

Question Number : 116 Question Id : 60092913303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3T HIRABT T

2. % JUIAe HITRIHT UTRIRUTAD!
3. ¢ 3TUIfge HIfRrepT Sia A
4. % JMUIFASH DB G fagH

Question Number : 117 Question Id : 60092913304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is the science of designing, conducting, analysing and interpreting studies aimed at improving public health and medicine.
Options :

1. ¥ Biostatistics

2. # Bioinformatics

3. # Bio-chemistry

4. # Biologic

Question Number : 117 Question Id : 60092913304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ I Qi1

2. % g g fagH
3. % 319 XA AR
4. % Jfgw

Question Number : 118 Question Id : 60092913305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RNA, abbreviation of ribonucleic acid, is a complex compound of high molecular weight that functions in cellular protein synthesis and
replaces DNA deoxyribonucleic acid as a in some viruses.

Options :

1. # carrier of biotic codes

2. # carrier of pro-biotic codes
3. % carrier of genetic codes

4. % carrier of RNA codes

Question Number : 118 Question Id : 60092913305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RNA, JSa-gfadd URTIS HT T 14 €, ot fob 3= SMuifdes YR aTel U Sifed A ©, I8 SIS U TRyl § S a1 § 3R
$ fauTgefi T DNA (Sl RIRSIGaS TRiS) o &=y H deadi gl

Options :

1. # WG9 PIs & deH
2. % T-SRNfeh HIS & a8
3. ¥ 3MTIARIP Hls & dgH
4. % RNA BIS & dlgdh

Question Number : 119 Question Id : 60092913306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Epigenetic information refers to heritable changes in gene expression that occur without modifications at the:



Options :

1. # Core structure

2. # Genome architecture
3. % RNA sequence level.
4. ¥ DNA sequence level.

Question Number : 119 Question Id : 60092913306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T G

2. % S TR

3. % 3R.UAU. (RNA) HJhH IR

4. ¢ S TAT. (DNA) 3hH &R

Question Number : 120 Question Id : 60092913307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
includes the physiology and biochemistry of insect organ systems.
Options :
1. ¥ Insect physiology
2. % Insect informatics
3. #* Insect biology
4. % Insect morphology

Question Number : 120 Question Id : 60092913307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 121 Question Id : 60092913308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

is the scientific study of how the component parts of fish function together in the living fish contrasted with , which is
the study of the form or morphology of fishes.

Options :

1. # Fish anatomy; fish physiology

2. ¥ Fish physiology; fish anatomy

3. # Fish physiology; fish psychology
4. % Fish physiology; fish oncology

Question Number : 121 Question Id : 60092913308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % AScl IR =1 fag; 7 TRR fobar fage
2. ¢ Al TRR fobar fax, Aot TRR =T fasiH
3. % Hoal IRR fohaT faFm; At Hifax=

4. % Tclt IRR fopa faH, Al srafaxm™

Question Number : 122 Question Id : 60092913309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, or childbirth, is the process by which the uterus expels the fetus from the mother's body.

Options :

1. ¥ Evolution

2. % Obvolution
3. ¥ Parturition
4. % Partition

Question Number : 122 Question Id : 60092913309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Ifgpra

2. % 3qdIegRH
3. ¥ Tfd

4. % 3{qydaq

Question Number : 123 Question Id : 60092913310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is a branch which is an organism's complete set of DNA, is an interdisciplinary field of science that focuses on the structure, function,
evolution, mapping and editing of genomes.

Options :

1. # Neural

2. ¥ Genomics
3. % Statistical
4. # Structural

Question Number : 123 Question Id : 60092913310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GfAPI

2. ¢ SiHIHeE
3. % giRkADY
4. % GIIATHASD




Question Number : 124 Question Id : 60092913311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
investigates heritable changes in gene expression that occur without changes in DNA sequence.
Options :
1. # Computational genomics
2. # Bioinformatics
3. % Genomics

4. ¥ Epigenetics

Question Number : 124 Question Id : 60092913311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o9 % SgagR # 3 3MdfRre uRad=l o Sifa BT & Sl S1.TA.T. (DNA) 3 H uRadd & o1 81 g
Options :
1. % HECYH ST
2. % Og g1 fagH
3. % SR
4. ¢ TOSHIeHT

Question Number : 125 Question Id : 60092913312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following processes begins with the implantation of the fertilised egg to the wall of the uterus and once the fertilised egg is
anchored, growth and development rapidly accelerate?

Options :

1. ¥ Pregnancy
2. # Surgery

3. # Fertilization

4. # Fallopian operation

Question Number : 125 Question Id : 60092913312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« THfgR

2. % Iy Fafean
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4. % fEgarfesdT v=a (Bafug fReH)

Question Number : 126 Question Id : 60092913313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who coined the term 'Criminalistics'?
Options :

1. # Jane Addams

2. % Jeremy Bentham

3. % Paul Kirk

4. % Hans Eysenck

Question Number : 126 Question Id : 60092913313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'URTYATAT Lsaract ol Ufadre- fba- farar 4me
Options :

1. % S U

2. % SRET SR

3. ¢ Uid fobeh

4. % BY 33D

Question Number : 127 Question Id : 60092913314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In United States, the federal crime labs located within the Department of Justice are under the administrative control of which of the following?
Options :

1. # Secretary

2. % President

3. ¥ Attorney General

4. # Vice President

Question Number : 127 Question Id : 60092913314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TgE I 3AReT H, g faumT & 3ieR fRyd e sroRTe yaTRIed Fafafad & 9§ forads uxmafes Fa=or § gidt g2
Options :

1. % gfyg

2. % yufd

3. ¢ HETATAId!

4. % IRIPUld

Question Number : 128 Question Id : 60092913315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following agencies prevent attempts at counterfeiting money and credit cards?
Options :

1. # The Internal Revenue Service

2. % The United States Department of the Interior

3. ® The United States Postal Service

4. ¥ The United States Secret Service

Question Number : 128 Question Id : 60092913315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 129 Question Id : 60092913316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tendency of the blood to pool at the lowest part of the body under the influence of gravity after death is known as
Options :

1. # Algor mortis

2. % Livor mortis

3. ¥ Rigor mortis

4. % Pallor Mortis

Question Number : 129 Question Id : 60092913316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % @R Ay

2. ¢ faR Aifdw

3. % AR AT

4. % YR AIfcw

Question Number : 130 Question Id : 60092913317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Polygraph section will fall under which of the sections of a Forensic science lab?



1. Intake Section
2. Analysis Area

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 130 Question Id : 60092913317 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. % $ad 1|

2. % Had 2

3. % 1 3R 2 gHf

4. A1 RAE 2

Question Number : 131 Question Id : 60092913318 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process Corpus Delicti is an important part of
Options :

1. # Controlling the crime scene

2. # Handling safety issues

3. ¥ Documentation at the crime scene

4. # Searching the crime scene

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Question Number : 131 Question Id : 60092913318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JRTY VI R (Agz0

2. % GR&ATHA! Bl U

3. ¢ SIRTY RJ R Jera

4. % URTY VI B TSl

Question Number : 132 Question Id : 60092913319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the search method of the crime scene that is used if the scene includes several rooms to be searched systematically?
Options :

1. # Grid method

2. ¥ Zone method

3. % Spiral method

4. % Line search method

Question Number : 132 Question Id : 60092913319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Wit fafg

2. ¢ &7 fafy

3. % gifa (g fafd

4. % Qg @il fafYy

Question Number : 133 Question Id : 60092913320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How many times does the evidence collected at the crime scene passes through the Criminal Investigator before finally reaching to the court?
Options :

1. % 2 times

2. % 4 times

3. ¥ 3 times

4. # Once only

Question Number : 133 Question Id : 60092913320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 29R

2. % 49R

3.9 3dR

4. % Had Th IR

Question Number : 134 Question Id : 60092913321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the last evidence taken at the crime scene?
Options :

1. ¥ Fingerprints

2. # Footprints

3. # Blood

4. % Hairs

Question Number : 134 Question Id : 60092913321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3ol & A=

2. % WY P A

3. % Jad

4. % q1d

Question Number : 135 Question Id : 60092913322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of Demonstrative evidence?
Options :

1. * Crime scene drawings

2. % Shoeprints

3. # Photographs

4. % Videotapes

Question Number : 135 Question Id : 60092913322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed § I &1 1 UeRHIES I8 BT 3380 el 82
Options :

1. % 3URTY RIS DT @M=

2. ¢ 9d & A=A

3. % BT

4. % difgare

Question Number : 136 Question Id : 60092913323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Examples of Exemplars is/are:



1. DNA
2. Voiceprints
3. Hair

Options :

1. % Only 2

2. % Both 1 and 3
3.¥ All 1,2 and 3
4. % Both 1 and 2

Question Number : 136 Question Id : 60092913323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 2

2. % 1 R3S
3.9 1,2 3R 3 gut
4. % 1 3R 2 Al

Question Number : 137 Question Id : 60092913324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a class evidence example?
Options :

1. # Soils

2. ® Hairs

3. % Explosives

4. ¥ Handwriting



Question Number : 137 Question Id : 60092913324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % forgd

2. #® dd

3. % {qpics

4. ¥ GG

Question Number : 138 Question Id : 60092913325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of an evidence?
Options :

1. # Individual - Class

2. ¥ Technical - Unknown

3. % Physical - Nonphysical

4. % Real - demonstrative

Question Number : 138 Question Id : 60092913325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2.« ddH-ip! - 3T

3. % Yifge - sruifas

4. % ISP - USRHTHD



Question Number : 139 Question Id : 60092913326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the branch of Anthropology under the British school of thought?
Options :

1. # Physical Anthropology

2. % Social Anthropology

3. % Archaeology

4. ¥ Linguistic Anthropology

Question Number : 139 Question Id : 60092913326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea § 3 o fafew faryRT & ded Ffagr o1 femr T 82
Options :

1. % Wifde o

2. % TR Jfaqm

3. % R fagH

4.« YT9TS Sfasm=

Question Number : 140 Question Id : 60092913327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Archeologists gave the idea of "Three age system"?
Options :

1. ¥ Christian Jurgensen Thomsen

2. % Howard Carter

3. % Louis Leakey

4. ¥ Mark Lehner

Question Number : 140 Question Id : 60092913327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 60092913328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT a type of Biological Adaptation?
Options :

1. % Acclimatization

2. % Genetic adaptations

3. * Body size and shape

4. ¥ Technological adaptation

Question Number : 141 Question Id : 60092913328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffied & @ &9 91 SIfa® %A &1 Uh YR el &7
Options :

1. % URRRUFT 3r e

2. % AR g

3. % YRR BT MHR 3R 3MHid

4. YRS Sga

Question Number : 142 Question Id : 60092913329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ethnicity pertains to the word ethnic which is a distinction of mankind based on:
Options :

1. #¥ Caste

2. % Race

3. % Class

4. % Religion



Question Number : 142 Question Id : 60092913329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sfd

2.9 ]

3. % T

4. % g

Question Number : 143 Question Id : 60092913330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The initiatives led by Norman Borlaug involved:

Options :

1. % Development of high yielding varieties of sugarcane
2. # Distribution of indigenous seeds

3. % Development Natural fertilizers

4. ¥ Expansion of irrigation infrastructure

Question Number : 143 Question Id : 60092913330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 144 Question Id : 60092913331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In normal human being, the nucleus of each cell contains chromosomes.
Options :

1. ® 51

2.9 46

3. % 34

4. % 60

Question Number : 144 Question Id : 60092913331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® 51

2.9 46

3. % 34

4. % 60

Question Number : 145 Question Id : 60092913332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT one of the major factors of Evolution?
Options :

1. * Mutation

2. % Human induced selection

3. * Genetic drift

4. * Gene flow

Question Number : 145 Question Id : 60092913332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 60092913333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

has yielded early Acheulian assemblage.
Options :
1. # Vijaydurg Fort in Maharashtra
2. # Morgaon, a site from Deccan basalt landscape
3. % Paisra in Munger district, Bihar
4. # Hunsgi in the Hunsgi valley

Question Number : 146 Question Id : 60092913333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 147 Question Id : 60092913334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is one of the Early Evolutionists?



Options :

1. ¥ Adam Smith

2. # Lawrence Robert Klein
3. % Robert Lucas Jr.

4. % Elinor Ostrom

Question Number : 147 Question Id : 60092913334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RrofiRd & @ i e Rerafial § 4t
Options :

1. ¥ TeH Ry

2. % TRY AT FiA

3. % [ PN JR

4. % QMR RCH

Question Number : 148 Question Id : 60092913335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Victor Turner relates the performance of rituals to process.
Options :

1. # Cultural

2. # Environmental

3. % Economic

4. ¥ Social

Question Number : 148 Question Id : 60092913335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fereR =R yrfifes Bl & UesH Bl UiehaT q JeId A ¢ |

Options :



1. % gRpldd
2. % TglaRuiy
3. % i

4. ¢ IS

Question Number : 149 Question Id : 60092913336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kinanthropometry comprises of three words kinein (to move), anthropos (man) and metrein (to measure).
Options :

1. ¥ German

2. # French

3. # English

4. ¥ Greek

Question Number : 149 Question Id : 60092913336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CAEIIERIC] Qeg] B (IR & foIw), TR (@199 iR AfeT @9= & o) I frae s R
Options :

1. % SR

2. % AL

3. % 3Gt

4. N

Question Number : 150 Question Id : 60092913337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is well known as the founder of modern genetics
Options :

1. # August Weismann



2. ¥ Gregor Mendel
3. % Carl Correns

4. ¥ Hugo de Vries

Question Number : 150 Question Id : 60092913337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed # 3 f5d snyfd rafie! & YRITT® & T H ST offdl 82
Options :

1. % 3ffe dioi=

2. ¥ YR HEd

3. % PHId HRY

4. % g S g

Question Number : 151 Question Id : 60092913338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is with the writings of the book "A Vindication of the Rights of Women", by that one traces the birth of Liberal Feminism as a
separate feminist movement.

Options :

1. # Tiera Guinn

2. # Elizabeth Blackwell
3. % Mary Wollstonecraft
4. % Jane Goodall

Question Number : 151 Question Id : 60092913338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B G "IRI & YR BT FHI (<T faSIHRMA 311 & A5 31 JHT) & oG A T S{elT ARG SHigie &b & H
JERAE! ARIANG o o &1 Udl Iadl g |
Options :

1. % fegu =




2. % YRATeY sidad
3. ¢ T AT h U
4. % S T3

Question Number : 152 Question Id : 60092913339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are proteins that bind to unfolded or misfolded proteins to promote their normal folding.
Options :
1. # Ligands
2. % Allosteric protein
3. ¥ Chaperons
4. ® Residues

Question Number : 152 Question Id : 60092913339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG WA & S 30 I ga | gl A & e fom ae arel a1 Tad 9 ard Uicq 9 sud € |
Options :
1. % geft (ferdiga)
2. % IRJYA! YIS (TaRe R UIdH)
3. ¢ RIS (RAWRA)
4. % AR (RIS

Question Number : 153 Question Id : 60092913340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a technique for determining molecular structure in which the electron beam of an electron microscope is used to elicit diffraction
from a two-dimensional crystal of the molecules of interest.

Options :
1. # Electron spectroscopy

2. ¥ Electron crystallography



3. # Molecular exclusion chromatography

4. % Atomic spectroscopy

Question Number : 153 Question Id : 60092913340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & § o I sufas Tam &1 RURT &1 &1 T doiis & o T gadei- AIgH DT & Fadei- §1H BT ITaNT Jefid
31t & fg-Smar fobeea ¥ faad= e &= & o fora sirar g2

Options :

1. % gaggl- Wagl fazm

2. ¥ ZAdCH fehecd faq

3. # 3MfUgeh 3UaSi- quicRa- (hIHC TR

4. % TRATUGS Wae! fagm

Question Number : 154 Question Id : 60092913341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gluconeogenesis occurs in

I) Liver

I1) Kidney
[IT)Pancreas
Options :

1. % 1Only

2. % Tand II Only
3. % II and III Only

4. % TII Only

Question Number : 154 Question Id : 60092913341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECAIRRICRIRE] BRI



I

iyt

11 3T
Options :

1. % Had 1

2. ¢ Had 1 3R 11
3. % Had 11 3R 111

4. % Had III

Question Number : 155 Question Id : 60092913342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bovine pancreas is NOT a source for which of the following peptidases?
Options :

1. % Carboxypeptidase A

2. % Trypsin

3. % Chymotrypsin

4. ¥ Papain

Question Number : 155 Question Id : 60092913342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI (SaTe) SR Fafiiad § 3 feg UfPSH &1 Hid 78 o
Options :

1. % SIS A

2. % fefRm

3. % PpreAfciE

4. QU

Question Number : 156 Question Id : 60092913343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The enzyme, succinate dehydrogenase converts succinate to
Options :

1. # Malonic Acid

2. ¥ Fumarate

3. # Pyruvate

4. % Lactate

Question Number : 156 Question Id : 60092913343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSiTgH, Gfge fegzgieie, afese ol # gRafidd arar g
Options :

1. % HdlHD TS

2. ¢ TgART

3. % UIgde

4. % dace

Question Number : 157 Question Id : 60092913344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following DNA sequencing techniques is also referred to as dideoxy sequencing?
Options :

1. % Maxam-Gilbert Sequencing

2. ¥ Sanger Sequencing

3. ¥ High-throughput Sequencing

4. ® Miller Sequencing

Question Number : 157 Question Id : 60092913344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford SLTA.T. (DNA) SIHHUT ah-id Bl SIsla SIHHu H FHaT ol 82




Options :

3. % J-YUT ATHHUT
4. % TR SFIhHUI

Question Number : 158 Question Id : 60092913345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process in which Introns are removed from RNA after transcription and Exons are joined.
Options :
1. # Sequencing
2. % Transcription
3. # Translation
4. ¥ Splicing

Question Number : 158 Question Id : 60092913345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I8 Ufshan g foH ufdees & 91 SIR.TA.E. (RNA) ¥ S¢H o d offd & 3R T 98 od & |
Options :
1. % 3ehyur (RresRi)
2. % [GdRUN (Trafeh ™M)
3. % 3fdRUT (CQRH)
4. ¢ YA ((RRaRim)

Question Number : 159 Question Id : 60092913346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is achieved by DNA ligase enzymes?
Options :



1. ¥ Joining two pieces of DNA by forming phosphodiester bonds

2. # Recognizing the restriction site on a double-stranded DNA molecule
3. # Cleaving the DNA at the recognition site

4. # (Cleaving the DNA at places other than the restriction site

Question Number : 159 Question Id : 60092913346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrofaRad o 9 fod SLTA.T. (DNA) 18T TSR §RT UTW o STl 82
Options :

1. ¥ TIRPISISURR §¢- IIHR S1.UA.T. (DNA) & &l gl ol B

2. % fgIRMT SITA.T (DNA) 37] WR Ul TId R DI Ugar=-

3. % g9 ®Id IR 31.UA.T. (DNA) &I fauiiord s

4. % YiA&Id ®IA & 3fATdT 3= SHTE! IR S1.UA.T. (DNA) DI faHTTTd =T

Question Number : 160 Question Id : 60092913347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following classes of restriction endonucleases cleave DNA at just the recognition sites?

I) Type I
II) Type I
1) Type 111

Options :

1. # 1 Only

2. ¥ 11 Only

3. % T and II Only
4. ® Tand III Only

Question Number : 160 Question Id : 60092913347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfasfid TSIfaauors &1 FHfeiRad # ¥ &I 91 37 had UgaH Ridl IR S1.UA.T. (DNA) B f[aHIRId HdT 82

) UhR I
1) TR 11
IHYHR 11

Options :

1. % FHadl
2.¥ HAd Il
3. % Had 1 MR 11
4. % Had [ 3R 111
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Question Number : 161 Question Id : 60092913348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the mode of action of Tetracycline antibiotic.

Options :

1. # Inhibits bacterial cell wall synthesis by disrupting peptidoglycan cross-linking
2. ® Inhibits the secretion of gene products B-Lactamase and Neomycin

3. % Inhibits binding of aminoacyl tRNA to the 30S ribosomal subunit

4. ® Inactivates translation by interfering with ribosome function

Question Number : 161 Question Id : 60092913348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS UCtarifcd &1 fohdl o i &1 Uga de |

Options :

1. % UPTESIATS S fadase o S1ferd B SiiaTy] SifRresT fify T=err &l Ahdr 8|
2. % S IS p-caeTie 3R AR & 91d &l Adhar g

3. ¢ 308 AZENHA IUgeH (Jgiic) H THTRIE (RNA & &9 HI AHhdT 7 |

4. % ST & B H ST B R0 b (ASHT Fal g |

Question Number : 162 Question Id : 60092913349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a step involved in Polymerase chain reaction (PCR)?
Options :

1. # Denaturation

2. % Annealing



3. ¥ Splicing

4. ® Primer extension

Question Number : 162 Question Id : 60092913349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & & o gifemR @ Sifear (Pcr) T =M oRur 8l 82
Options :

1. % fapdieur (SHERA)

2. % drarRite (3nfafe)

3. ¢ gHe Y (Rafdm)

4, % YISIR IR (TSR TRICTH)

Question Number : 163 Question Id : 60092913350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT true about retinoblastoma protein (pRB)?

Options :

1. # pRB is often called the “cell cycle master switch.”

2. ¥ pRB accelerates entry of cells into S phase.

3. # Hypophosphorylated pRB binds the E2F transcription factor complex.

4. ® During mid to late G1 phase of the cell cycle, pRB is phosphorylated by cyclin-CDK complexes.

Question Number : 163 Question Id : 60092913350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad 7 3 1 91 Sy ISR U (pRB) & IR # 8! 781 o7

Options :
1. % pRB P RR "I ATfhed HReR RIa" FHel i g |
2. ¢ pRB, S I H HIRGT3 & YA I 9T 8|

3. % ERUGIBRIZACS pRB, E2F fOTTaRul R& THY (SRR thaex Hiida) Siedi g




4. % DIABT I% & AL Y {fdH G1 I F GRM, pRB B! ISfaGH-CDK THDT (P 1HIRI) GRT BB RIGd [haT ST g |

Question Number : 164 Question Id : 60092913351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tumor suppressor protein is often referred to as the “guardian of the genome.”
Options :

1. ¥ p53

2. % pRB

3. ¥ p21

4. % pla

Question Number : 164 Question Id : 60092913351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 DR (TR JOIR) Ui DI SRR "SHIH & WREH" & =Y H ST o1l 5 |
Options :

1. ¥ p53

2. % pRB

3. ¥ p21

4. % pla

Question Number : 165 Question Id : 60092913352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are common structures between prokaryotic and eukaryotic cells?

1. Cytoplasm
2. Ribosomes
3. genetic material

Options :
1. % Only 1
2. % Both 1 and 3



3. % Both2and3
4. % All1,2and 3

Question Number : 165 Question Id : 60092913352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed & § o9 W uadhaad! (MeRaie®) 3R ghad! (GhRaliesd) HIRIEGs & dd SHIME TReT 82
1. PIRBT 5T

2. AR

3. 3T dRIb ATt

Options :

1. % Had |

2. % 1 3R 3qHl

3. % 2 3R 3 gl

4.9 1,2 3R 3 g+

Question Number : 166 Question Id : 60092913353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are NOT true for viruses?

1. they replicate or multiply
2. presence of nuclei or mitochondria
3. they are obligate intracellular parasites

Options :

1. % Only 1

2. % Only 2

3. % Only 3

4, % All1,2and 3

Question Number : 166 Question Id : 60092913353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 oF 98 Sy faumgsht & fau g T8l 8782

1. 3 Ufaepfa 991a & a1 Sruh TRedt sieTd §
2. YD T ATSCIp a1 B IR
3. 9 3ifed} 3fa:PIRP T TRondl §

Options :

1. % $ad 1|

2. ¥ Had 2

3. % $dd 3

4. % 1,2 33T

Question Number : 167 Question Id : 60092913354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following bacteria is NOT a chemoorganotroph?
Options :

1. # Pseudomonas

2. # Lactobacillus

3. % Ecoli

4. # Nitrosomonas

Question Number : 167 Question Id : 60092913354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafefad & 9 19 1 ShaTy -3 ew T8 82
Options :

1. % SN

2. % USRIy

3. % SPIAR

4. ¢ TECHAMTE



Question Number : 168 Question Id : 60092913355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a characteristic of Innate immunity?
Options :

1. # Starts fast in mins/hours

2. ¥ Highly specific to foreign proteins i.e., antigens

3. # Stimulates the acquired immune response

4. ® Cells involved are NK cells, neutrophils and macrophages

Question Number : 168 Question Id : 60092913355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 SF T SoTa UfcRe 3T = =18t 52
Options :

1. % fiede (mins/hours)ﬁaﬁﬁ@[%a?ﬁ%

2. AT UIETg A vfaer (UETei) & o srafaes fafkry
3. % SR UfaRe Ufdifohan o1 IgI ol §

4. % AT HIRIBIE § NK BIRIBIE, FSIbed 3R Jeayaf

Question Number : 169 Question Id : 60092913356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
which of the following is/are TRUE about Viral oncogenes?

1. They are viral homologs of the cellular oncogenes
2. Generally found in retroviruses

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2



Question Number : 169 Question Id : 60092913356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSt 3eg ST (ARRA SHidIoi) & IR H HAfiRed & 9 ®F 978 &Y 99 8/8?

1. d BIRPT 3 ST & [T FeHf §
2. 3 IR TR ISIGRRY § UTE ofd &
Options :

1. % $ad |

2. % PHad 2

3. ¢ 1 3R 2 &M

4. %A 17812

Question Number : 170 Question Id : 60092913357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lymphatic vessels consist of:

1. Peyer's Patches
2. Venules

3. Ducts
4. Thymus

Options :

1. # Both 1 and 4
2. % Both 2 and 3
3. % All1,3,and 4
4. % All2,3and 4

Question Number : 170 Question Id : 60092913357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o] aIfgepTd Ffeied d freie st &



Options :

1. % 1 3R 4 Al
2.2 3R 3aA
3. % 1,3 3R 4Tt
4. % 2 3 3R 4T

Question Number : 171 Question Id : 60092913358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT true about enzyme structure?

Options :

1. # Many enzymes contain a non-protein component known as cofactor.

2. # A cofactor may be another organic molecule, in which case it is called a coenzyme.
3. % When an enzyme requires a cofactor for activity, the cofactor is called apoenzyme.

4. % A coenzyme that binds permanently to the protein is called prosthetic group.

Question Number : 171 Question Id : 60092913358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ®1F 1 Sy Toed WRa1 & IR § Tl 781 82

Options :

1. % P3 UolsHl § T IR-NEH U gid1 ¢ o IR & Y H SHT Sl g |

2. % Th YeHRP U 3G HEHd U 81 b g, fory Fufd o 38 TeUSsd el Srar g

3. ¢ 9§ Uh USISH &I AT & ol U Ggh RS P Mahdl gl 8, dl TghRP bl TUIISISH Hel Sl g |
4. % UH GEUNISH S UIcH & I1Y W U § 471 81T 5, AfaRad (MRfes) T Heard |




Question Number : 172 Question Id : 60092913359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The examples of Therapeutic agents; a type of enzyme, are:

A. Glucose isomerase
B. Urokinase
C. Peroxidase

Options :

1. ®* Only A

2.% Only B

3. % Only C

4. # Both A and B

Question Number : 172 Question Id : 60092913359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIfp ey ifiparall & ISTeRur: Sl TS T Uh UBR T, g
A. TIPS STFHTHA

B. TUHTET

C. Wiy

Options :

1. % Had A
2. ¥ $Had B
3. % $Had C
4. % A 3R BEHI

Question Number : 173 Question Id : 60092913360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Constitutive Plant Defense include (s):



a. Toxic chemicals
b. Thorns, Spine
c. Cell walls

Options :

1. * Bothaand b

2. % Bothaandc

3.+ Bothbandc

4. % Alla,bandc

Question Number : 173 Question Id : 60092913360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tue-Td® Uley ufaren & Fafafad & @ s i 873

a. STl XA
b. Pic, T

c. DITHT TRl
Options :

1. % 2 3R b gl
2. % 2 3R ¢ Al
3.9 b 3R c gl
4. ® a,bS‘ﬁTcHQﬁ

Question Number : 174 Question Id : 60092913361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The common diseases contracted via the G.I Tract is/are:

1. Ulcers
2. Diphtheria

Options :
1. ¥ Only 1
2. % Only 2



3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 174 Question Id : 60092913361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SER/3MF (G.1) UY P HITH T Yehid g arel JrT=a 7 T 82

1. @R
2. fewiifean

Options :

1. ¥ $Had 1|

2. % Had 2
3. % 1 3R 2 gHl
4. %A 17812

Question Number : 175 Question Id : 60092913362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT true about Restriction enzyme?

1. Known as the scissors of molecular genetics
i1. Generally found in fungi and viruses
iii. REases recognize DNA base sequence that are palindrome

Options :

1. # Only i

2. ¢ Only ii

3. % Bothiand ii
4. # Both ii and iii

Question Number : 175 Question Id : 60092913362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafefad & @ & 91 ufdsy TaTgH & aR | 96l 781 82

i, 3MMUIfA® TR B drelt & U H ST ST &
ii. 3T IR TR Had! 3R fasmopsfi & ura srar g
iii. REases 31 SL.UA.U. (DNA) TR 3IHH Pl UgdMd ¢ off UG &

Options :

1. % $Hadi

2. ¢ Had ii

3. % § 3R ii gl
4. % i 3R iii A

Question Number : 176 Question Id : 60092913363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vectors used in rDNA technology is/are:

A. Lambda phage
B. cosmid

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. # Neither A nor B

Question Number : 176 Question Id : 60092913363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

rDNA TN § Ugad aige (daey) F1 8/3?

A. ATssT faHsh
B. BIRHS

Options :

1. % Hdd A



2. % Had B
3. ¢ A 3R B!
4. % AT A MRS B

Question Number : 177 Question Id : 60092913364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Examples of bacteria used for SCP Production is/are:

1. Candida utilis
2. Pseudomonas fluroescens
3. Chondrus crispus

Options :

1. % Only 1

2. % Only 2

3. % Only 3

4. % All1,2and 3

Question Number : 177 Question Id : 60092913364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SCP IdT1EA & ot Uged SiiaTu[ehi &1/d IeTavul 1 8/8?

1. Hfger geifer

2. SN TR
3. phigY fhay
Options :

1. % $Had |

2. ¥ Had 2

3. % $Hdd 3

4. % 1,2 33T



Question Number : 178 Question Id : 60092913365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to genetics, choose the odd term out.
Options :

1. * Heredity

2. % Living organisms

3. ¥ Variation

4. ¥ Variance

Question Number : 178 Question Id : 60092913365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STIARI® & dgef T favH e &1 99+ B |
Options :

1. % 3fTIaifRrehdl

2. % g uig

3. % faftrrar

4. ¥ g

Question Number : 179 Question Id : 60092913366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Population genetics describes the variation in between groups in a statistical manner.
Options :

1. # gene structures

2. ¥ gene frequencies

3. % gene semantics

4. ® gene expressions

Question Number : 179 Question Id : 60092913366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SRR SMTARI! U iRk g diieh o gl & & # fr=raT &1 qui SRl g |
Options :

1. % S ISl

2. ¢ S 3fgfrl

3. % o o fagm

4. ® S U8R

Question Number : 180 Question Id : 60092913367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following is the process of controlling which genes in a cell’s DNA are expressed that are used to make a functional product such as a
protein.

Options :

1. # Gene variation
2. # Gene formation
3. % Gene collection

4. ¥ Gene regulation

Question Number : 180 Question Id : 60092913367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad gg Fafd o @) ufshar | I S & STA.T. (DNA) B $F T S Usfed fort SiTd &, et SuanT iidH S sriids
e T & g faa S g2

Options :

1. % ST {7l
2. % S TTeH

3. % SfiF §UgU
4. ¢ S fafrae
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Question Number : 181 Question Id : 60092913368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is an interdisciplinary field mainly involving molecular biology and genetics, computer science, mathematics and statistics addressing data
intensive, large-scale biological problems from computational point of view.

Options :
1. # Neuroscience

2. * Nanotechnology



3. % Biotechnology

4. % Bioinformatics

Question Number : 181 Question Id : 60092913368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig U 3ia:q arel & & for e g ¥ ¥ Soifdes Sia faxm 3R SrdfRrent, Segex fagm, i siR Jifeaes! <nfie &, o
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Options :

1. % e fagm
2. % JAIUEN R
3. % OIg Uit
4. Sa I fagm=

Question Number : 182 Question Id : 60092913369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In biology a is a group of individual cells or organisms descended from one progenitor.
Options :

1. ¥ Clone

2. % Chromosome

3. % Nano-man

4. % Epitome

Question Number : 182 Question Id : 60092913369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oitg fagm & - SCT PIFRABTSN AT Sidl T Th THE ¢ ol Uh Jaol & a<o gl
Options :

1. ¢ id%=g (&)

2. % T[URGA (hIHNT )




3. % F9-02Y (AH1-5A)
4. % gfqaH (Qfuem)

Question Number : 183 Question Id : 60092913370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The root is the dynamic community of microorganisms associated with plant roots.
Options :

1. ® Mini-biome

2. # Neuro-biome

3. # Nano-biome

4. ¥ Micro-biome

Question Number : 183 Question Id : 60092913370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SE_ Ui oS O IS gereial &1 Whd SHEr B
Options :

1. % gg-siges (Brt-aram)

2. % AP Sa-8F (*-TH)

3. % fIGEH A& (A-1-ara)

4. ¥ Y& S8 (HTEe1-aTaH)

Question Number : 184 Question Id : 60092913371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Medical genetics is the branch of medicine that involves the diagnosis and management of in specific.
Options :

1. ¥ hereditary disorders

2. ® functional disorders

3. # vyisual disorders



4. # biological disorders

Question Number : 184 Question Id : 60092913371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafere safet fafdre o1 ag Tt ¢ forad falks wu o &1 g 3R Tee i 8|
Options :

1. ¢ AR fdbR

2. % PHAfAD f[ABR

3. % T fapR

4. % Sfa% fdBR

Question Number : 185 Question Id : 60092913372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are multiple sources of genetic variation, including:
Options :

1. # Heterozygosity

2. % Mutation and genetic recombination

3. # Gene diversity

4. ® Alleles per locus

Question Number : 185 Question Id : 60092913372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R fhrre & &3 Hid 3, o =fie g
Options :

1. % fOuRgsl (@RISR

2. ¢ IARTd 3R MTIARIG TTIaoH
3. % Sfi fafaear

4. % TAI Ufd Ay




Question Number : 186 Question Id : 60092913373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is the science that investigates how a variety of interacting processes generate an organism’s heterogeneous shapes, size and structural
features.

Options :

1. # Developmental zoology

2. # Developmental analogy

3. % Developmental psychology
4. ¥ Developmental biology

Question Number : 186 Question Id : 60092913373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig 98 faq § o 39 91 &1 oifd $dl & & fafid UsR &t sid:fhareres uforart farht sfia @1 fasy siefadl, SR iR WRaIHS
fIRwarar & H I FRl 8

Options :

1. % fqwrard® Siq fagm

2. % [qHNITHS e

3. % fqHr s gHIfaT

4. ¢ faprITHS Sita fagm

Question Number : 187 Question Id : 60092913374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is an exceptionally useful genetic model used for the study of simple and complex molecular, cellular and evolutionary underpinnings of
behaviour.

Options :
1. ¥ Drosophila
2. % Gene

3. % Transgenesis



4. % Zebrafish

Question Number : 187 Question Id : 60092913374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tg TS SRATYRY U § SUART TR UfaHH § foIeT SUdNT adeR & WRd 3R Sifed 3Muifdds, SR iR f[AmRIme SnuRl &
3T & o fpar S g

Options :

1. ¢ Sraifthan

2. % o H

3. % SfiF gfaRToe
4. % GISthe

Question Number : 188 Question Id : 60092913375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the subfield of genetics devoted to the study of bacteria that are subtly different from eukaryotic genetics, while
bacteria still serve as a good model for animal genetic studies?

Options :

1. # Bacterial cryogenics
2. % Bacterial statistics
3. ¥ Bacterial genetics

4, % Bacterial informatics

Question Number : 188 Question Id : 60092913375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proffed 3§ S 91 starueii & sieg= 3 oy gaftid Sraiie) o1 3uaH § o ghas! (GeRales) e 3 geq wu d R g,
STafas sary a7t off O] STIaRIe Serde & oIt Ueh S Ufad™ & U & B $Rd 67

Options :
1. % SfaTu gt
2. % SfiqTuLel it



3.  SIdTUfSl S{TdfRIbt
4. % SfiaTulst Yo fagme

Question Number : 189 Question Id : 60092913376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fungus is any member of the group of eukaryotic organisms that includes microorganisms such as and , as well as the
more familiar mushrooms.

Options :

1. # Lex; molds
2. % Lex; YACC
3. #* Yacks; molds
4. ¥ Yeasts; molds

Question Number : 189 Question Id : 60092913376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HI% JHad! (GHRAeH) Shal & Tg &1 1o Yew ¢ forer gemofa o & 3R , 1Y BT 31feep v
T A
Options :

1. % e, Bha
2. ® AR, YACC
3. % I, g
4. ¢ TUR; Bhg

Question Number : 190 Question Id : 60092913377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following amino acids is NOT hydrophobic?
Options :

1. ¥ Serine

2. % Leucine



3. # Methionine
4. # Phenylalanine

Question Number : 190 Question Id : 60092913377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & @ o5 a1 erfie s, SRt BrEgIw!e®) e 22
Options :

1. ¢ WA

2. % g

3. % ARGMH
4. % BAqauaE-

Question Number : 191 Question Id : 60092913378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the altered function of Subtilisin protein?
Options :

1. ® Tolerates loss of structural disulfide bridge.

2. ® Ten-fold increase of half-life at 90 deg C in thermostability.
3. ¥ Tolerates loss of stabilizing divalent cations.

4. % Preferential formation of heterodimers.

Question Number : 191 Question Id : 60092913378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & § o a1, gefefeiRa M= o1 uRafda orf 82

Options :

1. % TEATHD SRICHISS e B g1 Jgd Hal gl

2. % URRRET (yARfSerd) 7 90 f&3ft ¢ R 3i-3mg ) < A1 Ifg PRaT B |
3. « TSR fgTaSies 4= 3t g1 g4 Bl o




4. % TQUAfgay (FRISIEAY) DI AT TT-1 Hal g

Question Number : 192 Question Id : 60092913379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The characteristics of Endospores is/are:

1. non-reproductive structure

2. non-resistant to UV and Gama radiation
3. resistant to temperature and starvation
4. commonly found in soil and water

Options :

1. % 1,2 and 3

2. % 2 3and 4
3.¥ 1,3 and 4

4. % All1,2,3and 4

Question Number : 192 Question Id : 60092913379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fqelom (TSrea) F Stftrererr o 2/8?

1. TR-YSH-1T TR

2. UV 3R 77 fafesvor o1 sufaRieh

3. dTIAT 3R fAaanes (e rde) o7 ufaRieh
4. STHAAR TR GaT 3R STl & T offell §
Options :

1. % 1,233
2. %2 334
3.9 1,3 3R 4
4. % 1,2,3 3R 49

Question Number : 193 Question Id : 60092913380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The DNA chain is Angstroms wide in size.
Options :

1. ¥ 22t026

2. % 10to 14

3. % 30to 36

4. % 40 to 50

Question Number : 193 Question Id : 60092913380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SITA.U. (DNA) §adl, 3HR & TRe S Bt B
Options :

1.¥ 22926

2. %109 14

3. % 30936

4. % 409 50

Question Number : 194 Question Id : 60092913381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Immunoglobulin A is predominantly found in:

1. saliva
2. colostrum
3. tears

Options :

1. #* Both 1 and 2
2. % Both 1 and 3
3. # Both 2 and 3
4.9 All 1,2 and 3



Question Number : 194 Question Id : 60092913381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRATAIg e A T8 U 3 s uran S g2

1. R (Hesan)

2. 7AgTY (PIRCH)
3. 31 (@)

Options :

1. % 1 3R 2 gHf
2. % 1 3R 3 Al
3. % 2 3R 3 gl
4.9 1,2 3R 3 gt

Question Number : 195 Question Id : 60092913382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are applications of bioinformatics?

A. Develop new and better drugs
B. find the function of a new protein
C. find the genes unique to human

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. % AllA,Band C

Question Number : 195 Question Id : 60092913382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad & @ 5 91, Sa ga1 fagr &1/ uanT 882



A. 7S 3R IgR i fawmRid o
B. U U U1 & HRf T Udl T
C. Ha & fafRry Sitq @il

Options :

1. % Had A

2. % $Had B

3. % A 3R BH!
4. A, B 3R c gt

Question Number : 196 Question Id : 60092913383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is TRUE of non-Histones?
Options :

1. ¥ Commonly known as packing proteins.

2. # Main structural proteins found in eukaryotic cells.
3. % Bound to DNA along most of its length.

4. ¥ Linked with gene regulation and other functions of chromatin.

Question Number : 196 Question Id : 60092913383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed 5 3 ®F 91, 7H-5eH & IR § |8t 52

Options :

1. % grAFgd: Ui Ui & =9 & SH1 ST ¢ |

2. % ghad! (o RafeH) Hiwmell # e ar geT IReds e g
3. % 3P| AUYBIY FaTS S U S TA.T. (DNA) J Fag BT 2|

4. ¢ S fafme R pfe & s il A JaT 8

Question Number : 197 Question Id : 60092913384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The moderately repetitive DNA sequences within eukaryotic chromosomes includes:

1. tandem repeats
2. interspersed retrotransposons

Options :

1. % Only 1

2. % Only2

3. ¥ Both 1 and 2
4. % Neither 1 nor 2

Question Number : 197 Question Id : 60092913384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ghad! (G RAIes) TORET & ok AgRIad €1.09.T.(DNA) 3IIhHI & 31 <M gidr 82

1. eSSl (¢sH e
2. SAUD U (FeTTS) YT aUIeH
Options :

1. % $ad |

2. % Had 2

3. ¢ 1 3R 2 Gl

4. % A1 3RAE 2

Question Number : 198 Question Id : 60092913385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the CORRECT order of the new drug development process?

a. Validation

b. clinical trials
c. approval

d. discovery

e. pre-discovery



Options :

1.¥¢,d,ab,c
2. % d,e,b,a,c
3.% c,e,d,a,b
4. % a b,e,d,c

Question Number : 198 Question Id : 60092913385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 3N faeTa ufshar &1 Tgt HH w1 g1 82

a. atfiepRur

b. HaTHe® TRIem
c. 3FHIGA

d. MMIDHR

e. uﬁ-&nﬁw
Options :

1.+ ¢ ,d,ab,c
2. % d,e,b,a,c
3. % ¢c,e,d,a, b
4. % a,b,e,d, ¢

Question Number : 199 Question Id : 60092913386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The features of Homeotic clusters, the human hox gene is/are:

1. There are 4 homeotic clusters- A, B, C and D
11. Each cluster is located on a different chromosome
111. Each homeotic cluster consists of 11 homeotic

Options :
1. % Only ii
2. % Both i and ii



3. #* Both ii and iii
4. ® Alli,ii and iii

Question Number : 199 Question Id : 60092913386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A @) dereed @ R, g g o A 313,

i, 4 giftrfe® o - A, B, C IR D B

ii. TP Feieex Udh 31T U IR fYd g |
iii. TP Bt g | 11 gItResd 8id ¢
Options :

1. % $Had ii

2. ¢ i 3R ii gl

3. % i 3R iii gl

4. % i ii 3R iii ot

Question Number : 200 Question Id : 60092913387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an application of Embryo culture?
Options :

1. ¥ Clonal propagation

2. % Recovery of distant hybrids

3. # Shortening of breeding cycle

4. ¥ Overcoming dormancy

Question Number : 200 Question Id : 60092913387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 Q & 1, Yo Ga¢ (TR HeeR) BT Sy T8 82

Options :



1. ¥ THYSAD G Yae

2. % G Y| B GG
3. % ST < BT gLAIBRUT
4. % T Sfftnnyd



